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NCERT Solutions Class 12 Maths Chapter 6

Applications of Derivatives

Question 1:

Find the rate of change of the area of a circle with respect to its radius 7 when

(@ r=3cm
(b) r=4cm
Solution:

We know that the area of a circle, 4=nr’

Therefore, the rate of change of the area with respect to its radius is given by

d4 d
e
=2

(a) When r=3cm
Then,

M 2z(3)

dr
=6

Thus, the area is changing at the rate of 67 .

(b) When r =4cm
Then,
dA
22 (4
dr n’( )
=8
Thus, the area is changing at the rate of 87 .

Question 2:

The volume of a cube is increasing at the rate of 8cm’/s. How fast is the surface area
increasing when the length of its edge is 12¢m ?

Solution:

Let the side length, volume and surface area respectively be equal to x, ¥ and S .
Hence, ¥ =x" and S =6x’
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We have,
‘fi—I:=80mS /s
Therefore,
day d g, ;
=)
d ; s\dx
R= =
dx(x )a’t
8=3xZﬁ
dt
dx 8
e ssid)
Now,
ds _dy.
di dt( )
=i(6xz]£
dx dt
= 12.xé
dt
8
= 12,{?] [ from (1) ]
_2
So, when x =12cm
Then,
%= f—zcmz &
=§.:'m2 /s

Question 3:

The radius of a circle is increasing uniformly at the rate of 3¢m/s. Find the rate at which the
area of the circle is increasing when the radius is 10cm /s .

Solution:
We know that A = zr?
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Now,
dA _d ;
dr dr( )
=2ar gr
dt
We have,
L8 =3cm/s
dt
Hence,
dA
—=2rr(3
=2 (3)
=6rr
So, when » =10cm
Then,
dA
—=6x(10
- =67 (10)
=60rem? /s
Question 4:

An edge of a variable cube is increasing at the rate of 3cm /s . How fast is the volume of the

cube increasing when the edge is 10cm long?

Solution:

Let the length and the volume of the cube respectively be x and V.

Hence, V =x’

Now,
v _d ;
=)
d; i\ dx
=—| X —_
dx( )dr
Y
dt
We have,
ﬂ=3cmfs
dt
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Hence,
dv
—=3x(3
- =3 (3)
=0y’

So, when x =10cm

Then,
dV 2
—=9(10
—-=9(10)
=900cm’ / s

Question 5:

A stone is dropped into a quiet lake and waves move in circles at the speed of 5cm /s. At the
instant when the radius of the circular wave is 8cm , how fast is the encoding area is increasing?

Solution:
We know that 4 = n#*

Now,
dA d 5
—_—=—T
i
=2:afrr£
dt
We have,
£=5cmfs
dt
Hence,
dA
== 2ar(5
—-=2mr(5)
=10xr

So, when r» =8cm

Then,

dA
107 (8
— =107(8)

=80mem® /s
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Question 6:
The radius of a circle is increasing at the rate of 0.7cm/s. What is the rate of increase of its
circumference?

Solution:
We know that C =2xr

Now,
E = i(Qm’)
dt dt
L
dr dt
=21 dr
dt
We have,
dr
= =0.7Trem/ s
Hence,
dcC
—=2xn(0.7
—-=2m(0.7)
=1drem/ s

Question 7:
The length x of a rectangle is decreasing at the rate of Scm/minute and the width » is

increasing at the rate of 4cm/ minute. When 8cm and ¥ =6c¢m | find the rate of change of (a)
the perimeter and (b) the area of the rectangle.

Solution:
. L =—5¢m / minute = = 4em / minute
It is given that dt , di , x=8cm and ¥ =6cm
(a) The perimeter of a rectangle is given by P=2(x+y)
Therefore,
dt dt dt
=2(-5+4)

==2cm [ minute
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ﬁ: 2[@4_@]
dt dt dt
=2(-5+4)

=2cm [ minute

The area of a rectangle is given by 4 =xy

(b)
Therefore,
d4 dx dy
— =—ytx—=
dt dt dt
=-5y+4x
dA dx dy
— =y x—
dt dt dt
=-5y+4x
When x =8cm and ¥ = 6cm
Then,
%2 (—5 X6+ 4>':8]c.i'1'z2 / minute
=2em” | minute
Question 8:

A balloon, which always remains spherical on inflation, is being inflated by pumping in 900
cubic centimeters of gas per second. Find the rate at which the radius of the balloon increases

when the radius is 15¢m .

Solution:
4
V=—nr
We know that 3 il
Hence,
av dv ( 4 3]
— = —nr
dt dt\3
d (4 3] dr
=—| =L m—
dr\ 3 dt
M s
dt
We have,
L. 900cm” / s
dt
Therefore,
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dr

471’ — =900
dt
ﬁ_ 900
dt 4nr’
_»s
a ’}TP"E

When radius, » =15¢m

Then,
dr __ 225
dt z(15)
=icmfs
T

Question 9:
A balloon, which always remains spherical has a variable radius. Find the rate at which its
volume is increasing with the radius when the latter is 10cm.

Solution:

V 4 T
We know that 3

Therefore,
dv d(4 2]
—=—|—nr
dt  dr\3

=—:-7:(3r2)

=4y’
When radius, » =10cm

Then,
av 2
 =47(10
—-=4n(10)

=400

Thus, the volume of the balloon is increasing at the rate of 400zcem’ /s .
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Question 10:

A ladder is 5m long is leaning against the wall. The bottom of the ladder is pulled along the
ground, away from the wall, at the rate of 2cm /s . How fast is its height on the wall decreasing
when the foot of the ladder is 4m away from the wall?

Solution:
Let the height of the wall at which the ladder is touching it be ¥7 and the distance of its foot
from the wall on the ground be xm .

Hence,
x2+y2 =52
= y2 =25-x’
= y=+/25-x"
Therefore,
dy _d >
L C ns
dt dr( g )
d ( 2)dx
B (YT ]
dx *a
__ —Xx dx
(\/25—)8) dt
We have,
—=2cm/s
Thus,
dy _ —2x
dt  \25-x
When x =4em
Then,
ﬂ_ —2x4
dt  \J25-16
8
=——cm/s

Question 11:

A particle is moving along the curve 6y =x"+2_ Find the points on the curve at which the y-
coordinate is changing 8 times as fast as the x-coordinate.
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Solution:

The equation of the curve is 6y = x’+2

Differentiating with respect to time, we have

ﬁd—y LRt L
dt dt
LS
dt dt

=52

According to the question, [df
Hence,

When x=4
Then,

When x=-4
Then,

dy _

sé]
dt

: 4,11 [‘4i1"]
Thus, the points on the curve are (4.11) and 3 o,
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Question 12:
1

. : . . —cm/ s , )
The radius of an air bubble is increasing at the rate of 2 . At which rate is the volume of

the bubble increasing when the radius is lem ?

Solution:
4
. ) . V=—nr
Assuming that the air bubble is a sphere, 3
Therefore,
av _d(4_.\dr
dar  dt\ 3 dt
dr
=4’ —
i —
We have,
dr 1
—=—cm/s
dr 2
When r =1lem
Then,
dav 21
—=4r (1) | =
= 0(3)
=2em’ |'s

Question 13:

A balloon, which always remains spherical, has a variable diameter 2
change of its volume with respect to x.

Solution:

4 3
V =—nur
We know that 3

3
d==(2x+1
It is given that diameter, 2 ( )

r=2(2x+1)
Hence, =

Therefore,
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3
V= in[éj (2x+1)’
314

=—m(2x+1)’
Thus,
L =iﬂi(2x+l)3
dx 16 dx
=Zﬂ'(2x—|—1)3

Question 14:

Sand is pouring from a pipe at the rate of 12¢m’ / s. The falling sand forms a cone on the ground
in such a way that the height of the cone is always one-sixth of the radius of the base. How fast

is the height of the sand cone increasing when height is 4cm ?

Solution:

V=l7rr2h

We know that 3

h
It is given that, 6

Hence, » =6h
Therefore,
V= % 7 (6h) h
=127k’
Thus,
Lt 2 ()2
t dt dt
dh
=12z (th)z
=36mh’ il
dt
We have,
‘Z—I: =12cm’ / s
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When 4 =4em
Then,
12=367 (4) 22
dt
dn 12
dt  36x (16)
= L cm/is
4R

Question 15:
The total cost €(¥) in Rupees associated with the production of x units of an item is given by

C(x)=0.007x" —0.003x* +15x +4000 ~Eing the marginal cost when 17 units are produced.

Solution:
Marginal cost (MC) is the rate of change of the total cost with respect to the output.
Therefore,

e =€ 0.007(3x*)-0.003(2x) +15
dx

=0.021x* - 0.006x+15

When x =17
Then,

MC=0.021(17)° —0.006(17) +15
=0.021(289)-0.006(17) +15
=6.069-0.102+15
=20.967

So, when 17 units are produced, the marginal cost is X 20.967.

Question 16:
The total revenue in Rupees received from the sale of x units of a product given by

R(x)=13x"+26x+15 Find the marginal revenue when x=7.

Solution:

Marginal revenue (MR) is the rate of change of the total revenue with respect to the number
of units sold.

Therefore,
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MR=" _13(2x)+26

dx
=26x+26

When, x=7
Then,

MR =26(7)+26
=182+26
=208

Thus, the marginal revenue is X 208.

Question 17:
The rate of change of the area of a circle with respect to its radius  at r = 6cm is
(A) 107 (B) 12 (©C) 8 (D) 11z

Solution:
We know that 4 =nr’

Therefore,
e (m‘z )
dr dr
=¥
When r = 6cm
Then,
ﬁ =27 x6
dr
=12mrem® | s

Thus, the rate of change of the area of the circle is 12xem” /s

Hence, the correct option is B.

Question 18:
The total revenue is Rupees received from the sale of x units of a product is given by

R(x)=3x"+36x+5 Tpe marginal revenue, when x =15 is
(A) 116 (B) 96 (C) 90 (D) 126
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Solution:

Marginal revenue (MR) is the rate of change of the total revenue with respect to the number

of units sold.

Therefore,
MR=22 _3(2x)+36
dx
=6x+36
When, x=15
Then,
MR =6(15)+36
=90+36
=126

Thus, the marginal revenue is X 126.

Hence, the correct option is D.
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EXERCISE 6.2

Question 1:

Show that the function given by S (x)=3x+17 jg strictly increasing on R.

Solution:

Let Xi and *: be any two numbers in R.
Then,

X, <x, =35 +17<3x,+17= f(x) < £ (x,)

Thus, / is strictly increasing on R.

Question 2:

Show that the function given by / (x)=€" js strictly increasing on R.

Solution:

Let % and X be any two numbers in R.
Then,

% 4x =2 <2y e ke ® = iz )} (x,)

Thus, f is strictly increasing on R.

Question 3:

Show that the function given by / (x)=sinx jg

°5)
(a) Strictly increasing in 2

n
—, 7T
(b)  Strictly decreasing in [2 ]

() Neither increasing nor decreasing in (0, "r)

Solution:
It is given that / (x)=sinx

Hence, J'(x)=cosx
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=cosx>0
= f"(x)>0

n
0,—
Thus, / is strictly increasing in [ 2].

3)
xe| =n
(b) Here, 2

=cosx<0
= f"[x)<D

n
—,
Thus, / is strictly decreasing in [2 j

(¢ Here, *€ (ﬁa’r)
The results obtained in (a) and (b) are sufficient to state that / is neither increasing nor

decreasing in (0.7)

Question 4:

Find the intervals in which the function /* given by / (x)=2x"-3x g

(a) Strictly increasing (b) Strictly decreasing
Solution:
The given function is / (¥)=2x"=3x
Hence,
S '(I) =4x-3
Therefore,
f'(x)=0
3
:> X =—
4
i )
it : =
3
4

3
=3 r=sesea

»

3
_{n —
Hence, / is strictly decreasing in [ 4}
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In [23(‘"’] f(x)=4x-3>0

3
__..’m
Hence, [/ is strictly increasing in (4 }

Question 5:

Find the intervals in which the function /* given f(x)=2x"=3x"-36x+7 ig
(a) Strictly increasing (b) Strictly decreasing

Solution:

The given function is / (x)=2x%"-3x" ~36x+7

Hence,
S'(x)=6x>—6x-36
= 6(Jr2 —x—6)
=6(x+2)(x-3)
Therefore,
['(x)=0
=S x==23
o -
- + - -
-2 3

In (=:-2) and (3:%),/"(x)>0
In (-2:3)./'(x)<0

Hence, / is strictly increasing in (—oe, _2),(3=°°) and strictly decreasing in (-2.3),

Question 6:
Find the intervals in which the following functions are strictly increasing or decreasing.

(a) x> +2x-5 (b) 10—-6x—-2x°
(¢) —2x° —9x* —12x+1 (d) 6-9x-9x°

(€) (x+ 1)3 (x—3)3

Solution:

(a) f(x)=x2+2x—5
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Hence,
f(x)=2x+2
Therefore,
= f'(x)=0
== x=-=1

x=—1 divides the number line into intervals (~%:1) and (~1.)
In (—0,1), f"(x) =2x+2<0

Thus, f is strictly decreasing in (—o.1)

m (-L®), f(x)=2x+2>0

Thus, /f is strictly increasing in (L)

f(x)=10-6x—2x’

Hence,

f'(x) =—6—-4x

Therefore,
= f'(x)=0

3
= X=——
2

3 ) nal
X=== co. . . . s =
2 , divides the number line into two intervals [ 2) and

- (—w,—%J,f’(x)=—6—4x<0

D . ) x<
Hence, f is strictly increasing for 2

N (—%,w} (5)=—6-42>0

. . . . x>
Hence, / is strictly increasing for 2

F(x)=-2x-9x" -12x+1

WWwWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

4

(d)

(e)

cuemath
THE MATH EXPERT
Hence,

f'(x) =—6x> -18x-12
=—6(x"+3x+2)
= —6(x+1)(x+2)

Therefore,

= f'(x)=0

= x=-12

x=-1 and x =-2 divide the number line into intervals (_°°=_2), (_2=_1) and (_l=°°).

In (—.-2) and (-Lo), f'(x)=-6(x+1)(x+2)<0
Hence, / is strictly decreasing for x <-2 and x> -1

In (=2,-1), /' (x)=—6(x+1)(x+2)>0

Hence, / is strictly increasing in —2 <x<-1

f(x) =6-9x—x’

Hence,

J(x)=-9-2x

Therefore,

= f'(x)=0

Hence, / is strictly decreasing in

S (x)=(x+1) (x-3)

WWwWW.CUEMATH.COM
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Hence,
£1(x)=3(x+1)" (x-3)’ +3(x-3)" (x+1)’
=3(x+1)2(x—3)2[x—3+x+1]
=3(x+1)" (x-3)" (2x-2)
=6(x+1)" (x-3) (x-1)
Therefore,
f'(x)=
Zxe~13.1

x =-13,1 divides the number line into four intervals (‘m’“l) =(“1= 1)’(1= 3) and (3’“3)

In (“ms_l

) and (_1’

1), f'(x)=6(x+1) (x-3) (x-1)<0

Hence, / is strictly decreasing in (=0.-1) and (-L.1)

In (13) and (), 1 (x)=6(x+1)" (v=3)"(x-1)>0

Hence, / is strictly increasing in (1.3) and (3.)

Question 7:

Show that Y

Solution:

It is given that

Therefore,

dy 1

X
=log(l+x)— Ja>=1 . ) ) . .
g(1+x) , 1s an increasing function of x throughout its domain.
2x
=log(l+x)—
> B ( ) 2+Xx

B (2+ x)(2) ~2x(1)

dx 1+x
|

(2+x)2
4

:I+x

(2+x)

2
X

(1+Jn:)(2+x)2
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Hence,

xl

(2+Jc)2
—=x’=0
=ax=10

Since, x> —Lx=0 divides domain (_]’OD) in two intervals —1<x<0 and x>0

When, -1<x<0
Then,

x<0=>x>0
x>—1=:(2+x)>0

=(2+x) >0

Hence,
x2 0
=—- _>
" 2+x)
When, x>0
Then,
x>0=x>>0
=(2+x)" >0
Hence,
.x2 0
= >
" 2ex)

Thus, / is increasing throughout the domain.
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Question 8:

2
Find the values of x for which =|:x (x- 2)] is an increasing function.

Solution:
We have,
y= [x(x - 2)]2
= |—x2 - 2.;-:12
Therefore,
dy d 2
™ dx[xz 2x:|
= 2(Jc2 —2x)(2x - 2)
=4x(x-2)(x-1)
L
Now, dx
Hence,

= 4x(x-2)(x-1)

=x=0x=2,x=1
x=0, x=1 and x=2 divide the number line intervals (=0,0),(0,1).(1,2) and (2.)

dy
In (_msﬂ) and (1=2) , % <0

Hence, V is strictly decreasing in intervals (=0,0) and (1,2)

dy
In (0,1) and (2,00], dx >0

Hence, ¥ is strictly increasing in intervals (0.1) and (2.)

Question 9:

o Asin0__ [ ,r}
Prove that (2+°"39) is an increment function of @ in L 2.
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Solution:
4sinf

P
We have, (2+cos0)

Therefore,
dy _(2+cos8)(4cosh)—4sin6 (—sin6) >
do (2+ 0039)2
_ 8c0s0 +4cos’ 0 +4sin’ 0 4
(2+cos0)’
_ 8cosO0+4
" (2+c0s0)’
L
Now, d6
Hence,
8cosf
(2+ccﬂ59)2 -

= 8¢0s0 +4=4+cos’ 0 +4cosh
= c0s° @ —4cosf =0

=5 cos&(cosB —4)= 0

=cosf@ =0 or cosf =4

Since, cosf = 4

Therefore,
cosf =0

:>t9=£
2

Now,

dy 8cos +4—(4+c0529+40058)
a0 (2+cos)’

_4cos0 —cos’ 6

- (2+cosB)’

_ cos(4—cos6)

" (2+cosh)
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In interval { , 2} , we have cos0 >0
Also,

4 >cosf
= 4—cos0 >0

Hence, cosﬂ(4~cos€] >0 4nd also (2+cosn9)E >0

Therefore,
cosB (4—cos@) X
(2+cosb )2
ﬁ >0
Hence, d0

T

T
o . .. , : . : x=—
So, ¥ is strictly increasing in [ 2) and the given function is continuous at x =0 and 2

1
0,—}
Thus, ¥ is increasing in interval { 2],

Question 10:

Prove that the logarithmic function is strictly increasing on (0.e0) |
Solution:

The given function is f(x)=logx

Fx)=1

Therefore,

: 1
For, x>0, f (x)=;>0

Thus, the logarithmic function is strictly increasing in interval (0,00)

Question 11:
2
Prove that the function / given by / (x)=x"=x+1 i neither strictly increasing nor strictly

decreasing on (-L1).
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Solution:

The given function is / (¥) =" —x+1

Therefore,
f(x)=2x-1
Now,
J'(x)=0
1
= e —
2

1 ) a3
= _13_ o
*=7 divides the interval v into [ 2) and \ 2

1
1,/ (x)=2x-1>0
In interval (2 ] 1)

)
=il =
Hence, / is strictly decreasing in [ 2

1
— 1, f(x)=2x-1>0
In interval [2 )f( )

1 ]
-, 1
Hence, / is strictly increasing in (2

Thus, / is strictly increasing nor strictly decreasing in interval (-L1)

Question 12:

T
0,—
Which of the following principles are strictly decreasing on ( 2 J ?
(A) cosx (B) cos2x (C) cos3x (D) tanx

Solution:

A) Let /i(x)=cosx

Therefore, £ (x)=-sinx
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T ' ;
0,— |, x)=-sinx<0
In interval[ 2J 5 ()

T
0,—
Thus, cosx is strictly decreasing in ( 2].

Let /> (x) =cos2x

Therefore, £y (x)=-2sin2x

Now,
.:‘>[}'<,1r<E
2

=0<2x<nm
=sin2x>0
= =2gin2x<()

T
' ; 0,—
Hence, /> (x)=-2sin2x<0 j [ 2)
Thus, cos2x is strictly decreasing in \ 2

Let /5 (x) =cos3x

Therefore, £y (x)=-3sin3x

Now,

S (x)=0

= sin3x=0

- [ (OEH

T
=S x==
3

_z [OE_] [OE_] [zz
The point E ,divides \ 2/ into \ '3) and \ 372

0<x<£
O,%J,ﬂ(x]=—35in3x<0 3

In interval 0<3x<m
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0,—
Hence, /5 is strictly decreasing in ( 3

T T

(_ n s
In interval \ 32

J,j;(x)z—SsinSx>0 §<x<%<n<3x<3?ﬂ]

T T
Hence, /5 is strictly increasing in [3 , 2]
I (1
Thus, cos3x is neither increasing nor decreasing in interval \ = 2

o) Let fi(x)=tanx
Therefore, fi (x)=sec’x
(0 E) £ (x)=sec’ x>0
In interval \ 27"

n
o,_]
Thus, tanx is strictly increasing in [ 2

Thus, the correct options are A and B.

Question 13:

On which of the following intervals is the function /f is given by / (x)=x"" +sinx—1 g strictly
decreasing?

(5] [03)
—, 0’__._
(A) (0.1) B) \2 (o) R (D) None of these

Solution:
We have,

f(x) =x% 4 sinx—1
Therefore,

S'(x)=100x" +cos x

In interval (0’1)"503"} 0 and 100x” >0
Hence, f'(x)>0

Thus, / is strictly increasing in (0.1)
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_ [—,x],cou<0
In interval \ 2 and 100x™ >0
Hence, /' (x)>0

w
_,x
Thus, / is strictly increasing in interval [2 ]

o (0,—},cosx>0
Now, in interval \ 2 and 100x” >0
Hence, /' (x)>0

n
o,—]
Thus, / is strictly increasing in interval [ 2

Hence, / is strictly decreasing in none of the intervals.

Thus, the correct option is D.

Question 14:

For what values of a the function / given / (¥)= X ax+] g increasing on [1.2]o

Solution:
We have

f(x)=x"+ax+1
Therefore,

S'(x)=2x+a
Now, the function / is strictly increasing on [1.2]
Therefore,

= f'(x)>0

=2x+a>0

= 2x>~a

= x> —

2

Here, we have 1<x<2

Thus,
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__a>]
2
a>-=2

Question 15:

1
=X4+—
Let I be any interval disjoint from [-1.1]. Prove that the function ./ given by S(x)=x x 1s

increasing on L.

Solution:
We have
f(x) =X +;
Therefore,
ff(X) =1 _x_2
Now,
f'(x)=0
1
l-—=0
=5, -
= x> =1
=x=+1

The points x=1 and x=-1 divide the real line intervals (=0.1),(=L1) anq (L)

In interval (_1’1) , —l<x<l

= x? <1

:1<L2 x#0
X

:l—iz<0 x#0
X

1
r == ]. e
Therefore, /(%) x <0 on (-11) ~{0}

Hence, / is strictly decreasing on (-11) ~{o}

Now, in interval (—o0,-1) and (l»m), x<-lorl<x
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= x>

1

=>1>—2

X

:I—LZ>0
X

1
r =].—_
Therefore, (%) x >0 on (—°:~1) and (L®)

Hence, / is strictly increasing on (=0,-1) and (1)

Thus, / is strictly increasing in I in [-1.1]

Question 16:

Prove that the function / given by / (x) =logsinx increasing on [

(3+)

Solution:
We have

f(x) =logsinx
Therefore,

1
‘[x)= cos x
J ( ) sin x
=cotx

T
0,— |, f'(x)=cotx>0
In interval[ 2} 1)

T
B
Hence, / is strictly increasing in ( 2].

T
—.7|,f'[x)=cotx<0
In interval [2 ]f( )

w
—, T
Hence, / is strictly decreasing in (2 ]
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Question 17:
T

Prove that the function ./ given by / () =log|cos x| j decreasing on [ ’ 2) and increasing on

(5 )

Solution:
We have / (x) = 1°g|‘3°5x|
Therefore,
; 1 i
f'(x)= cosx( sin x)
=—tan x

, [O,EJ,tanx>0:>—tanx<0
In interval \. 2

Hence, f'(x)<0

T
o,_]
Thus, / is strictly decreasing on [ 2/,

E,Zn],tanx<0:>—tanx>0

In interval [ 2
Hence, f'(x)>0

(5]
Thus, / is strictly increasingon \ 2~ /.

Question 18:
3 2
Prove that the function given by / (x)=x"=3x" +3x-100 jg increasing in R.

Solution:
We have

S(x)=x*-3x"+3x-100
Therefore,
Sf'(x)=3x"-6x+3
=3(x" —2x+1)
=3(x-1)’
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For xeR, (x—l)220

So, / (%) is always positive in R.

Thus, the function is increasing in R.

Question 19:
The interval in which ¥ =x’¢™ ig increasing is

(A) (—0.0) @) (-2.0) (©) (2.)

Solution:

We have y=x"e”

Therefore,
L 2xe ™ —xte*
dx
=xe " (2-x)
dy _
Now, dx

Hence, x=0 and x=2

The points x=0 and x=2 divide the real line into three disjoint intervals i.e., (_Ooso), (0,2)

and (2,00) )

) (0:2)

In intervals (—:0) and (2:%) ¥ 4 "(x)<0 a5 ¢ is always positive.

Hence, / is decreasing on (=0,0) and (2.0)

In interval (0=2), J'(x)>0

Hence, / is strictly increasing in (0,2)

Thus, the correct option is D.
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EXERCISE 6.3

Question 1:

Find the slope of the tangent to the curve ¥ = 3x*—4x at x=4.

Solution:

The given curve is ¥ = 3x* —4x

Then, the slope of the tangent to the given curve at x=4 is given by,

d
%]m = 5(3{‘ —4x]:|x:4

=12x° —4]F4

=12(4) -4
=12(64)-4
=764

Question 2:

. y= x| S X #2
Find the slope of the tangent to the curve x-2

Solution:

The given curve is s
Therefore,
Q_i[x_—lj
dx  dxlx—2
(x-2)(1)-(x-1)(1)
(x~2)’
_ x=2-x+1
(=-2)

|
(%-2)

Now, the slope of the tangent to the given curve at x =10 is given by,
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Question 3:

Find the slope of the tangent to curve ¥ = x’=x+1 at the point whose x-coordinate is 2.

Solution:

The given curve is ¥ =X —x+1
Therefore,

%=%(x3 —x+l)

=3x* -1

Now, the slope of the tangent at the point where the x-coordinate is 2 is given by,

%l= =3%" _ll=2

=3(2)" -1
=12-1

Question 4:
Find the slope of the tangent to curve ¥ =x" —3x+2 at the point whose x-coordinate is 3.

Solution:

The given curve is V= X =3x+42

Therefore,
@z i(x3 —3x+2)
dx dx
=3x*-3

Now, the slope of the tangent at the point where the x-coordinate is 3 is given by,
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ﬂ] =3x>-3]
a'x 5 x=3

=3(3)°-3
=27-3
=24

4

Question 5:
Find the slope of the normal to the curve x =a cos’ 0,y =asin’0 at

Solution:

. . FEhg
The given curve is x=acos’@ and y =asin’ 0

Therefore,
Be i(a cos’ 6)
do deé
=-3acos’Hsind
2 = i(a sin’ 9)
do do
=3asin’ 0 (cos0)
Hence,
[is)
dy _\d6 ) _ 3asin’6cos6
dx [ﬁ] —3acos®0sin 0
do
__sin®
cos0
=—tanf
0="
Now, the slope of the tangent to a curve at 4 is given by,
'ﬂ}} == t.an 9] T
dx |, = g
4
= —tan 2
4
_—
o=-"
Hence, the slope of the normal at 4 is given by,
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= e A

=1
-1

slope of the tangent at 6 = %

Question 6:
. : 2 0=
Find the slope of the normal to the curve x=1-asin@® and y =bcos” 0 at 2.

Solution:

It is given that x =1—asin@ and ¥ =bcos’ 0

Therefore,
dc d
—=——(1—asinf
6~ ag L~ sin®)
=—acos0
-51—’):=—d+(bcoszt9)
dog do
=-2hsinfcosA
Hence,

dy
d_y_ do _—stin(?cosﬁ‘

dx (ﬁ] —acosf
do
=%sin9
a

T

Now, the slope of the tangent at 2 is given by,

ﬂ] =-2—b~sin9:|
dx 9% a -

2b . w
=—gin—
a

2b

a

B A

T
0=—
Hence, the slope of normal at 2 is given by,
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- | 3 -1 __i
slope of the tangent at 0 = % [%} 25
a

Question 7:

Find the points at which tangent to the curve ¥ =X P=3x" -9x+7 is parallel to the x-axis.

Solution:

The given curve is ¥ = % =35 -9x+7
Therefore,
% =%(x3 —3x* —9x + 7)
=3x—6x-9

Since tangent is parallel to the x-axis if the slope of the tangent is zero.

Hence,
3x*—6x-9=0
= x"-2x-3=0
:>(x—3)(x+l)=0
=x=3orx=-1
When, x=3
Then,
y=(3) -3(3) -9(3)+7
=27=-27=-27+7
=-20
When, x=-1
Then,
y=(-1)"=3(=1)"-9(-1)+7
==1-34+947
=12

Thus, the points at which the tangent is parallel to the x-axis are (3,-20) and (-L12)
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Question 8:

2
Find a point on the curve ¥ = (¥*=2)" at which the tangent is parallel to the chord joining the
points (2,0) and (4.4).

Solution:

If a tangent is parallel to the chord joining the points (2,0) and (4.4)
Then, the slope of the tangent = the slope of the chord.

4-0_4_,
Hence, the slope of chord is 4-2 2

Now, the slope of the tangent to the given curve is,

L = 5(x-2)

Since, the slope of the tangent = the slope of the chord.

Hence,
2(x-2)=2
= x-2=1
e i bl
When, x=3
Then,
y=(3-2)

=1

Hence, the point on the curve is (3.1).

Question 9:

Find the point on the curve ¥ =" =11x+5 at which the tangent is ¥ =x—11,

Solution:

The given curve is ¥ =" —11x+5

The equation of the tangent to the given curve is ¥ =x—11

Therefore, slope of the tangent is 1.
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Now, the slope of the tangent to the given curve is,

Q=%(x3 —1lx+ 5)

dx
=3x’-11
Hence,
3x*-11=1
=5.3%" =12
=x'=4
= x=t?)
When, x=2
Then,
y=(2) -11(2)+5
=8-22+5
=—9
When, x=-2
Then,
y=(-2) -11(-2)+5
=-8+22+45
=19

Thus, the points are (2.-9) and (-2:19).

Question 10:

Find the equation of all lines having slope —! that are tangents to the curve -

Solution:

=L,x¢1

The given curve is YT

WWwWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

cuemath

THE MATH EXPERT

4

The slope of the tangents to the given curve is given by,
& _ i[L)
dx dx\ x-1
-1

(-1

The slope of the tangent is —1
So, we have:

=] _
(x=1)
=(x-1)" =1
= x-1=4l

-1

=>x=2,0
When, ¥=0,=y=-1 and when x=2,=y=1

Thus, there are two tangents to the given curve having slope —! and passing through the points
(0.-1) ang (2.1).

Hence, the equation of the tangent through (0.-1) js given by,
y=(-1)=-1(x-0)
= y+l=—x
= y+x+1=0

The equation of the tangent through (2.1) s given by,
y—1=-1(x-2)
= y—l=x+2
= y+x-3=0

Thus, the equations of the required lines are ¥ +x+1=0 and y+x-3=0,

Question 11:
1

=——,x#3
Find the equations of all lines having slope 2 which are tangent to the curve Y T

Solution:
1
The given curve is S
The slope of the tangents to the given curve is given by,
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ﬂ_i[LJ
dx  dx\x-3

_ -l
(x-3)

4

The slope of the tangent is 2
So, we have:

-1
(x=3)
=2(x-3)" =-1

:(x~3)2 =_?1

It is not possible since the LHS is positive and RHS is negative

Thus, there is no tangent to the curve of the slope 2.

Question 12:
1

Find the equations of all lines having slope 0 which are tangent to the curve YT oxes.

Solution:
B 1
The given curve is Yo ok

The slope of the tangents to the given curve is given by,

ﬂ_i(;)
dx  de\x?=2x+3

_ —(22-2)
- (.x2 —21|:+3)2
_ =2(x-1)
- (xz —121\:+3)2
The slope of the tangent is 0
So, we have:
—2(x—l) -0
(Jrc2 —2x+3)
= —2(x—1) =0
=x=1
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When, x=1
Then,

Y123

1
2

1
1l,—
Hence, the equation of the tangent through [ 2] is given by,

y—%zﬂ(x—l)
1
i)
S
= y=—

Thus, the equation of the line is ary

Question 13:

x2 yl

—_—t—=
Find the points on the curve 9 16  at which the tangents are
(i) parallel to x-axis (ii) parallel to y-axis

Solution:

x2 y2
: . e
The equation of the given curveis 9 16

On differentiating both sides with respect to x, we have:

e
9 16 dx
- d_y _ —l6x
dc 9y
—16x 0
() The tangent is parallel to the x-axis if the slope of the tangent is 9y , which is

possible if x=0

Thus,
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2 2
'x_+y_=1
9 16 for x=0

Therefore,

2
=2 =1
16
:‘:y2=16

=>y=14
Hence, the points are (0.4) and (0.—4).

(i) The tangent is parallel to the y-axis if the slope of the normal is 0, which gives
-1

—_— =0
—16x
9y
A

D> —=
l6x

=>y=0

Thus,
x2 yl
—+—=1
9 16 fory=0

Therefore,

2
X

=—=1
9

=x*=9
e

Hence, the points are (3.0) and (-3.0).

Question 14:
Find the equation of the tangents and normal to the given curves at the indicated points

i)  y=x'—6x"+13x> ~10x+5 4t (0.5)
i) y=x'—6x+13x> —10x+5 ot (1.3)
iy y=x"at (L)
i) v=x"at(00)
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(vy X=cost,y=sint att 4

Solution:

()  The equation of the curve is ¥ =x"—6x" +13x* ~10x +5

On differentiating with respect to x, we get:

@=4x3 —18x> +26x—10
dx

d—y} -10

dx Jo.s)

Thus, the slope of the tangent at (0.5) is —10.

The equation of the tangent is given as:
y—5=~10{x—0)
= y-5=-10x
=10x+y=5

Slope of normal at (0.5) is
-1 -1 1

slope of the tangent at (0,5) -10 " 10

Therefore, the equation of the normal at (0.5) is given as:
|
—5=—(x-0
y=3=35=0)
=10y-50=x

= x-10y+50=0

(i) The equation of the curve is ¥ =x" —6x" +13x” —10x+5 4t (13)

On differentiating with respect to x, we get:

ﬂ=4x3 —18x* +26x—10

-"l} =4-18+26—10=2
(1.3)

Thus, the slope of the tangent at (1.3) is 2.

WWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

4

(iif)

cuemath

THE MATH EXPERT

The equation of the tangent is given as:
y—3= 2(x—l)
- 3=282
= yp=2x+1

Slope of normal at (1.3) is
-1 -1

slope of the tangent at (1,3) 2

Therefore, the equation of the normal at (1.3) is given as:

1
~d=—( A=l
y=3=_(x-1)
=2y-6=x+1
=x+2y-T7=0

The equation of the curve is V= % at (L1)

On differentiating with respect to x, we get:

D 3y
dx

dy} 2
— =3(1) =3
= (1)

Thus, the slope of the tangent at (L1) §s 3,

The equation of the tangent is given as:
y-1=3(x-1)
=y=3x-2

Slope of normal at (L1) js
-1 -1

slope of the tangent at (1,1) 3

Therefore, the equation of the normal at (L1) is given as:

y—1=?(x—l)

=3y-3=—x+1
= x+3y-4=0

WWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

cuemath

THE MATH EXPERT

4

(ivy The equation of the curve is ¥ = x* at (0.0)

On differentiating with respect to x, we get:

b =2x
dx

iy_} 9
dx |0.0)

Thus, the slope of the tangent at (0,0) is 0.

The equation of the tangent is given as:
y—-0= O(x - 0)
=y=0

Slope of normal at (0,0) i
-1 -1

slope of the tangent at (0,0) 0 \which is not defined.

Therefore, the equation of the normal at (0.0) s givenas x=0
T

. : : t
The equation of the curve is x=cost and Yy =smmf at 4

On differentiating with respect to ¢, we get:

y dy
— =—sint — =cost
dt and dt
Therefore,
&
dy \ dt cost
—=——<= =—cott
dx ( dx ) —sint
dt
Hence,
ﬁ} =—cotr=-1
dx |, _=
4

T
t=— .
Thus, the slope of the tangentat 4 is —1.
Hence,
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1 1

E and y=$

X =

The equation of the tangent is given as:

1 1
= y——=-1| x—
o ( JE]
1 1
:bx+y—:~/_£~—5=
:>x+y—\/5=0

Slope of normal at

slope of the tangent at t = %

T

Therefore, the equation of the normal at 4 is given as:

=S x=)

Question 15:

Find the equation of the tangent line to the curve ¥ =’ —2x+7 which is
(a) parallel to the line 2x—y+9=0
(b) perpendicular to the line 5y —15x=13

Solution:

The equation of the curve is ¥ =x’ —2x+7
On differentiating with respect to x , we get:

—=2x-2
dx

(a The equation of the line is 2x—y+9=0
= y=2x+9

This is of the form Yy =mx+c¢

Hence, the slope of line is 2
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If a tangent is parallel to the line 2x—y+9 =0 then the slope of the tangent is equal to

the slope of the line.

Therefore, we have:
2=2x—2
=2x=4
=x=2

Now, x=2

Then,
= y=4-4+7
=y=7

Thus, the equation of tangent passing through (2.7) is given by,

y=7=2(x-2)
= y—-2x-3=0

perpendicular to the line Sy —15x =13
13
= y=3x+ =

This is of the form Yy =mx+c

Hence, the slope of line is 3

If a tangent is perpendicular to the line 5y —15x=13 | then the slope of the tangent is,

~1 =1

slope of the line - 3
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Therefore, we have:

2x—2=_—l
3

=>2x=_—1+2
3

:>2x=§
3

_ 25-60+252

36
a7
T

Thus, the equation of tangent passing through [

_ﬂ_l[x_ﬁ)
Y736 T3\ 6

L3627 e
36 18

=36y-217=-2(6x-5)
=36y-217=-12x+10
=36y+12x-227=0

Question 16:

Show that the tangents to the curve ¥=7x"+11 at the points where x=2 and x=-2 are

parallel.

Solution:

The equation of the given curve is ¥ =7x"+11,

Therefore,
dy

—=21x?

5 217
6’ 36
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Thus, the slope of the tangent at the point where x =2 is given by,
d—y} =21(2)" =84
dx x=3

Also, the slope of the tangent at the point where x = -2 is given by,

d—y} =21(-2)" =84
dx x==2

It is observed clearly that the slopes of the tangents at the points where x=2 and x=-2 are
equal.

Hence, the two tangents are parallel.

Question 17:
3
Find the points on the curve ¥ =X at which the slope of the tangent is equal to the y-coordinates
of the point.
Solution:

3
The equation of the given curve is V=4
Therefore,

i 3x?
dx

When the slope of the tangent is equal to the y-coordinate of the point, then According to the

2
question, Y= 3x

3
Also, we have V=4

Therefore,

3t =x"

= (x-3)=0

=x=0,x=3

When, x=0,= y=3 and J«t=3,:>y=3(3)2 =27

Thus, the points are (0’0) and (3=27).
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Question 18:

P
For the curve ¥ =4Y" =2X"_find all the points at which the tangent passes through the origin.

Solution:

3 5
The equation of the given curve is V= 4x’-2x
Therefore,

ﬂ:lle’ —10x*
dx

Hence, the slope of the tangent at the point (%.7) is 1252 —10x*

Thus, the equation of the tangent at (x,y ) is given by,
Y-y =(12x"—10x*)(X —x)

When the tangent passes through the origin (0=0) , X=Y=0.
Therefore,

—y:(lZ.!c2 —10x4)(—x)
y=12x"-10x

3 5
Also, we have V= dx"~2x
Hence,

2122 -10x° =42 - 25°
=8y —8x’ =0
=x-x=0

3(.2
Sy (x —1]=0

=x=0,%1

When, x=0,= y=4(0)"-2(0)" =0
When, x=1,=y=4(1)-2(1) =2
When, %= -1= y=4(-1) ~2(-1)' =2

Thus, the points are (0’0), (132) and (_15 _2)
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Question 19:

2, .2
Find the points on the curve ¥ tJV — 2x-3=0 at which the tangents are parallel to the x-axis.

Solution:

2, .2
The equation of the given curve is ¥ T — 2x-3=0

On differentiating with respect to ¥, we have:

2x+2y%—2=0

Now, the tangents are parallel to the x-axis if the slope of the tangent is 0.
Therefore,

Hence,

Thus, the points are (132) and (19_2).

Question 20:

3 2_ 3
Find the equation of the normal at the point (am®,am’) for the curve @V° =X,

Solution:

2_ 3
The equation of the given curve is @ =X

On differentiating with respect toX, we have:
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2 3
The slope of a tangent to the curve at (am® am’) i

dy } ~ 3(am2 )2
dx (am ) N 2a(am3)

2.4
3a‘m

a 2a’m’
_ 3m

T 9

Therefore, the slope of normal at (am® am’) i

-1 ~1 -2

slope of the tangent at (amz,am3) - (311) 3m
2

2 3
Hence, the equation of the normal at (am®,am’) ;g given by,

y—am’ =;—2(x—am2)
m

= 3my —3am* = -2x+ 2am’

= 2x+3my —am® (2 +3m2)=0

Question 21:

3
Find the equation of the normal to the curve V=X +2x+6 which are parallel to the line
x+14y+4=0,

Solution:

3
The equation of the given curve is ¥ =X + 2x+6

The slope of the tangent to the given curve at any point (x,y ) is given by,
dy

—=3x*+2
dx

Therefore, slope of the normal to the given curve is,
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-1 -1
slope of the tangent  3x% +2

The equation of the given line is x+14y+4=0
1 4

= y=——x—— L
YT 14 , which is the form of ¥ =mx+c

Hence,
i A
32+2 14
=3x*+2=14
=t =12
=>x’=4
=Aox=tD

When, x=2,= y=8+4+6=18
When, x=-2,= y=-8-4+6=-6

-1
Therefore, there are two normal to the given curve with slope 14 and passing through the points

(2.18) ang (-2:6).

Thus, the equation of the normal through (2918) 1s

-1
~18=—(x-2
x T

=14y—-252=x+2
— x+14y-254=0

And the equation of the normal through (_29_6) is

-1
y=(-6)=13(x=(=2)
=14y +84=-x-2
= x+14y+86=0

Hence, the equations of the normal to the given curve are x +14y—~254=0 and x+14y+86=0,

Question 22:

2
Find the equation of the tangent and normal to the parabola V = 4ax at the point (al‘2 ’2‘”) .
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Solution:

2
The equation of the given parabola is V = dax.

On differentiating both sides with respect to ¥, we have:

dy
2y—=4q
¥
b _2a

dx vy

2
Therefore, the slope of the tangent at (ar* 2at)

Q] o 28 1
dx (aﬁ,zm} 2at ¢

2
Hence, the equation of the tangent at (ar*.2ar)

y—Zm‘:%(x—aIz)

= ty =20t =x—at*

:.>t‘y:x+at2

2
Now, the slope of the normal at (ar 20t ) is
-1 -1

slope of the tangent at (atz,Zat) [1
t

=t

Thus, the equation of the normal at (arz »2at ) is
y—2at= —t(x-atz)
= y—2at=—tx+at’
= y=—tx+2at +at’

Question 23:

2
Prove that the curves ¥ =) and xy =k cut at right angles if 8« =1.
[Hint: Two curves intersect at right angle if the tangents to the curve at the point of intersection

are perpendicular to each other.]

Solution:

2
The equations of the given curves are * =V and xy =k
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2
Putting X=JV in xy =k
¥ =k

1
= o
2
= x=k3

2
[:ﬁ,kéj
Thus, the point of intersection of the given curves is .

2
Differentiating ¥ =)  with respect to ¥, we have:

1=2_}4’E

—
=
o
=
o
@]
—
o
=3
o
w2
—_—
Q
=]
o
o
'—b
-
=
o
S
=
[0}
o
=4
=
o
[
=
o
(@]
5
o
=
Il
2
(=]
o
—
o
==
e |
| =
R OF
(==
w2

On differentiating x¥ =k with respect to X, we have:

dy
—~+y=0
X dx ¥
g B
dx x
2 1
&
Now, slope of the tangent to the curve xy =% at is
ﬁ] _ 1]
dx [,&5] x [,5,,5]
1
k3
=777
k3
-1
=T
k3

We know that two curves intersect at right angles if the tangents to the curves at the point of
2
ki,ké

intersection i.e., at [ J are perpendicular to each other.
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This implies that we should have the product of the tangents as —1.
Thus, the given two curves cut at right angles if the product of the slopes of their respective

2 1
[k?,k?]
tangents at is —1.ie.,

=8k =1

Hence, the given curves cut at right angle if 84” =1.

Question 24:

T
x Xy

1
Find the equation of the tangent and normal to the hyperbola &’ b’ at the point (xo,yﬂ )

Solution:

22
X ¥

Differentiating a’ b’ with respect to X, we have:
2x 2ydy

Therefore, the slope of the tangent at (%0 30) i

@} _bx
dx (%0.7%) azyo

Hence, the equation of tangent at (xmyn) is
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b’x,
—¥, = X— X,
y y{) azyo ( 0 )

aZ bz 2 bz
S Y
b
P AL
= azﬂ —b—;}—l

Now, the slope of normal at (xmyu) is

-1 _ —azyo

slope of the tangent at (x,,y,) b°x,

Hence, the equation of normal at (% 30) is

i
y_yu=_‘3_lq(x_x0)

b’x,
S 2h —(xz—xa)
ay, b°x,
N Y G
a’y, bz,

Question 25:

Find the equation of the tangent to the curve V= V3x-2 which is parallel to the line
4x-2y+5=0,

Solution:

The equation of the given curve is V=V 3x-=2

The slope of the tangent to the given curve at any point (%%) is given by,
L
dx  243x-2

The equation of the given line is 4x—2y+5=0,

5
= y=2x+= C
e 2, which is the form of y=mx+¢
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Hence, the slope of line is 2.

Now, the tangent to the given curve is parallel to the line 4x—2y+5=0 if the slope of the
tangent is equal to the slope of the line.

Therefore,

3
=32

2\3x-2
= /3x-2 =%
=>3¥x-2=

3x

= 3J~:=2-l-2=ﬂ
16 16
A

=>x=
48

41 3
Thus, equation of the tangent passing through the point [48 ’ 4] 1s
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= 24y—-18=48x-41
= 48x-24y=23

Question 26:
The slope of the normal to the curve V= 20" +3sinX gt x=0 is

1 1
(A) 3 (B) 3 (C) -3 D) 3

Solution:

2 .
The equation of the given curve is ¥ = 2% +3sinx

Slope of the tangent to the given curve at x =0 is given by,

d_y] =4x+3cosx]
x=0

=0+3cos0
=3

Hence, the slope of the normal to the given curve at x=0 is
-1 e
slope of the tangent at (x=0) 3

Thus, the correct option is D.

Question 27:

The line ¥ =x+1 is a tangent to the curve V " =4X g the point

@A) (1.2) @) (21) ) (L-2) @) (-1.2)
Solution:

2
The equation of the given curve is V = 4x
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Differentiating with respect to X, we have:

dy
2y =4
Y
b _2
dx 'y

The given line is ¥ = x+1 which is of the form y=mx+c,

Hence, slope of the line is 1

The line ¥ =x+1 is a tangent to the given curve if the slope of the line is equal to the slope of
the tangent.

Also, the line must intersect the curve.

Thus, we must have:

Therefore,
y=x+1
==x=y-1
= x=2—1
=x=1

Hence, the line v = x+1 is a tangent to the given curve at the point (1?2) .

Thus, the correct answer is A.
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EXERCISE 6.4

Question 1:

Using differentials, find the approximate value of each of the following up to 3 places of

decimals.
(i) V25.3 (if) v49.5
(i) (0.009); (v (0999)1
(vii) (26) (viii) (255):
0 (401)2 (xiy (0.0037):
(xiii) (81.5): (xiv) (3.968):
Solution:

i) V253

Consider V= ‘/;

Let x=25 and Ax=0.3

(iif) ¥0.6
(vi) (15):
(ix) (52):
iy (2657)

(xv) (32'15 )g

Then,

Ay =+x+Ax — Jx
=+253-+/25
=+/253-5

Ay+5=+/253
Now, @y is approximately equal to Ay and is given by,
-2
L (dx]’“
2\/_(03) [« y=v]
=—=(0.3
7m0
=00

Hence,
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25.3=0.03+5

=503

4

Thus, the approximate value of v25.3=5.03.

(i) V49.5
Consider V= Jx

Let x=49 and Ax=0.5

Then,
e

W

=)

Ay

Il

I
=
u.

9.

Ay +7=+495

Now, @y is approximately equal to AV and is given by,

B2

dx
(0.5) [ y=x]

1
N
1
=——=(0.5
i )
1
0.5
14( )
=0.035

Hence,

VJ49.5=7+0.035

=7035
Thus, the approximate value of v49.5 =7.035.
(iii) V0.6
Consider ¥=vx .

Let x=1 and Ax=-0.4

Then,
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Ay =vx+Ax =l
=+/0.6 -1
Ay +1=+/0.6

Now, @y is approximately equal to AV and is given by,

(2o

- (04) [ y=1x]

-2 (-04)

=-0.2
Hence,

V0.6 =1+(-0.2)
=1-02
=08

Thus, the approximate value of v0.6 =0.8.

1
(iv) (0.009)3
1
Consider ¥ =(x)?
Let x=0.008 and Ax =0.001

Then,
Ay=(x+ Ax)% —(x)%
~ (0.009): —(0.008);

1

=(0.009)s —0.2

L

Ay +0.2=(0.009)

Now, 4y is approximately equal to Av and is given by,
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Hence,

(0.009)F =0.2+0.008
=0.208

1

Thus, the approximate value of (0.009)3 =0.208
1
) (‘Cl.9'99)m
24
Consider ¥ =(x)
Let x=1 and Ax=-0.001

Then,
|

|
Ay = (x+ Ax)1o —(x)io
~ (0.999)i0 -1

1
Ay+1=(0.999)i0

Now, 4V is approximately equal to Av and is given by,

- () < y= (]

Hence,

|
(0.999)i0 =1+(-0.0001)
=0.9999
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Thus, the approximate value of (0.999)10 =0.9999

1
(vi) (15)*
1
Consider ¥ =(x)
Let x=16 and Ax=-1

Then,

Ay = (x +Ax)4 —(x)4
— (15)+ - (16):
~(15)i -2

1
Ay+2=(15)

Now, 4y is approximately equal to Av and is given by,

=B

dx
) [rre)]

_ 1
= 3
4(x)3

1

= 3 (_])
4(16)+

-1

T 4x8

=l

EY)

=—0.03125

Hence,

1
(15)+ = 2+(~0.03125)
=1.96875

1
Thus, the approximate value of (15)¢ =1.96875

1

(vii) (26)°
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Consider ¥ =(x)* |

Let x=27 and Ax=-1

Then,
Ay=(x+Ax) —(x)3
— (26— (27):
= (26)% -3
Ay+3=( 26)%

- () Eatd

1
(26)3 =3+(-0.0370)
=2.9629

1
Thus, the approximate value of (26)5 =2.9629

1
(viii) (255)*
1
Consider ¥ =(x)
Let x=256 and Ax=-1

Then,
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1

Ay =(x+Ax)% —(x)4

= (255)¢ —(256)¢

|-

=(255)+ -4

|-

Ay +4=(255)

Now, 4y is approximately equal to Av and is given by,

- (a =)

Hence,

1
(255)% = 4+(-0.0039)
=3.9961

1
Thus, the approximate value of (255)+ =3.9961
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1
(ix) (82)*
1
Consider ¥ =(x)*
Let x=81 and Ax=1

Then,

-

4(81)+

T 4x3’

108
=0.009

Hence,

1
(82)% =3+0.009
=3.009

1
Thus, the approximate value of (82)+ =3.009
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0 (401
Consider ¥ =(x)?
Let x=400 and Ax=1
Then,
Ay = (x+Ax): —(x):
— (401)2 —(400)2
- (401)1-20
Av-+20=(401)2

Now, 4 is approximately equal to A and is given by,

(2o
@ [l
Sl

1

40
=0.025

Hence,

(401)% =20+0.025
=20.025

1
Thus, the approximate value of (401)2 =20.025
L
(xi) (0.0037)2

1
Consider ¥ =(x)?

Let x=0.0036 and Ax =0.0001
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Then,
Ay = (v + &) ()
=(0. 0037)z -(o. 0036)
=(0. 0037)2 -0.06
Ay +0.06 = (0.0037):

Now, 4y is approximately equal to Av and is given by,

s

) [y

(0.0001)

" 2(0.06)
0.0001

0.12
=0.0008325

Hence,

|
(0.0037)2 =0.06+0.00083
~0.06083

1
Thus, the approximate value of (0.0037)2 =0.06083

|
(xii) (26.57)3
1
Consider ¥ =(x)?
Let x=27 and Ax =-0.43

Then,

Lt [ =

Ay+3=(26.57)
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Now, 4V is approximately equal to Ay and is given by,

(2]

~0.43
_ -0.43
27
=-0.015

Hence,

1
(26.57)5 =3+(-0.015)
=2.984

|
Thus, the approximate value of (26.57)5 =2.984
1
(xiii) (81.5)*
1
Consider ¥ =(¥)*

Let x=81 and Ax=0.5

Then,
Ay= (x+Ax)4 —(x]4
=(81 5)4 —(81)
=(81 s)i
Ay+3=(8L.5)s

Now, 4y is approximately equal to Av and is given by,
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Hence,

(81.5)% =3+0.0046
=3.0046

1

o) |G

Thus, the approximate value of (81.5)+ =3.0046

3
(xiv) (3.968)2
3
Consider ¥ =(x)?
Let x=4 and Ax =-0.032
Then,
3 3
Ay =(x+Ax)2 —(x)2
= (3.968)% —(4)§
3
=(3.968)> -8

3
Ay+8=(3.968)

Now, @y is approximately equal to Ay

and is given by,
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o2
i@ e
=>(2)(-0032)~
—-0.096

Hence,

3
(3.968)2 =8+(-0.096)
=7.904

3
Thus, the approximate value of (3.968)2 =7.904

(xv) (32. 15)%

1
Consider ¥ =(x)?

Let x=32 and Ax=0.15

Then,
Ay =(x+Ax) =(x)A
= (32.15)% —(32)§.
:(32.15)§ -2
Ay+2=(32.15)§

Now, 4 is approximately equal to A and is given by,
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{2

1 1
=—(Ax) vy =(x)s
S(x)g |: j|
1
5(2)°
015
T80
=0.00187

(0.15)

Hence,

1
(32.15)5 =2+0.00187
=2.00187

|
Thus, the approximate value of (32.15)s =2.00187

Question 2:

Find the approximate value of / (2.01) where / (x)=4x"+5x+2

Solution:

Let x=2 and Ax=0.01

Then,
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f(2:01) = f(x+Ax)
=4(x+Ax)" +5(x+Ax)+2
Ay = f(x+Ax)— f(x)
S(x+Ax)= f(x)+Ay
~ f(x)+f"(x) Ax (- dx =Ax)

£(201)~ (4x" +5x+2) +(8x—5) Ax
[4(2)" +5(2)+2]+[8(2) +5](0.01) [ x=2,Av=001]
=(1 6+10+2) (16+5)(0.01)

I

Hence, the approximate value of f(201)=2821

Question 3:

Find the approximate value of / (5.001) , where / (¥)=x"-7x*+15

Solution:
Let x=5 and Ax=0.001

Then,
f(5.001) = f(x+Ax)
= (x+Ax)’ =7(x+Ax)" +15
Ay=f(x+Ax)—f(x)
f(x+Ax)=f(x)+Ay
zf(x)+f'(x)-Ax ( dx:Ax)

7(5.001) ~(x* =7 +15) (3x2—14x)Ax

~(

(5 =7(5)" +15|+[ 3(5)" -14(5) |(0.001) [+ x=5,A¢=0001]
(125-175 +15) (75-70)(0.001)

(-3

5)+(5)(0.001)

=-354+0.005
=-34.995
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Hence, the approximate value of ! (5 .00 1) =-34.995

Question 4:
Find the approximate change in the volume V' of a cube of side x meters caused by increasing
the side by 1%.

Solution:

The volume of a cube ¥ of side x is given by ¥ =x’

Therefore,

) Ax
=(32%)(0.01x) [ 1% of x is 0.01x]
=0.03x’

Hence, the approximate change in the volume of the cube is 0.03x’m’.

Question 5:
Find the approximate change in the surface area of a cube of side x meters caused by

decreasing the side by 1% .

Solution:

The surface area of a cube (S ) of side x is given by S=6x".

Therefore,

()

=(12x)Ax
=(12x)(0.01x) [ 1% of x is 0.01x]
=0.12x’

Hence, the approximate change in the surface area of the cube is 0.12x%m”’.
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Question 6:
If the radius of a sphere is measured as 7m with an error of 0.02m , then find the approximate
error in calculating its volume.

Solution:
Let 7 be the radius of the sphere and Ar be the error in measuring the radius.

Then, »=7m and Ar=0.02m

Now, the volume ¥ of the sphere is given by,

V= 2 ar’
3
Therefore,
L Axr?
dr
Hence,
dav = (d—VJ Ar
dr
=(47r7)(0.02)
=47(7)’ (0.02)
=3.92x

Thus, the approximate error in calculating its volume is 3.92zm’.

Question 7:

If the radius of a sphere is measured as 9m with an error of 0.03m, then find the approximate
error in calculating its surface area.

Solution:
Let 7 be the radius of the sphere and Ar be the error in measuring the radius.

Then, »=9m and Ar=0.03m

Now, the surface area S of the sphere is given by,
S =dnr’

Therefore,
ds

—=8rr
¥
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Hence,
ds = ( a3 J Ar
dr

=(8zr)Ar
=87 (9)(0.03)
=2.167

Thus, the approximate error in calculating its surface area is 2.16zm”.

Question 8:

1f /(%) =32 +15x+5 then the approximate value of ./ (3.02) i

(A) 47.66 (B) 57.66 (C) 67.66 (D) 77.66
Solution:

Let x=3 and Ax=0.02

Then,
£(3.02) = f(x+Ax)=3(x+Ax)" +15(x+Ax) +5
= 1 (x+83) £ (3
S(x+Ax)= f(x)+Ay
SIS de=i)

£(3.02) % (3x° +15x+5) +(6x +15) Ax

[3(3)° +15(3)+5]+[6(3) +15](0.02) - x=3.Ac=0.02]
= (27+45+5)+(18+15)(0.02)
=77+(33)(0.02)

=77+0.66
=77.66

Hence, the approximate value of f(3:02)=77.66
Thus, the correct option is D.

Question 9:
The approximate change in the volume of a cube of side x metres caused by increasing the

side by is.
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(A) 0.06x’m’ (B) 0.6x’m’ (C) 0.09x°m’ (D) 0.9x°m’

Solution:

The volume of a cube (V) of side x is givenby V =x".
Therefore,
av = [ﬂjm
dx
=(3x7)(0.03x) [ 3% of x is 0.03x]
=0.09x

Hence, the approximate change in the volume of the cube 0.09x’nm’.

Thus, the correct option is C.
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EXERCISE 6.5

Question 1:
Find the maximum and minimum values, if any, of the following functions given by

(i)
(ii)

f(x)=(2x-1)"+3
S(x)=9x*+12x+2

iy S (x)==(x=1)"+10
(v) &(x)=(x) +1

Solution:

(1)

(i)

2
The given function is ./ (x)=(2x-1) +3
2
It can be observed that (2x=1) 20 o every xeR.

Therefore, f(x)=(2x—1)2+323 for every xeR.

The minimum value of / is attained when 2x—1=0
2x—-1=0

=>x==
2

Hence, minimum value of

r-1(3)

=3

Thus, the function /* does not have a maximum value.

The given function is g (x) =9x” +12x+2
2
It can be observed that (3" * 2) 20 for every xeR.

2
Therefore, / (¥)=(3x+2) =222 g, every xeR.
The minimum value of / is attained when 3x+2=0

3x+2=0
-2
= X=—
3

Therefore, Minimum value of
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Hence, the function /* does not have a maximum value.

2
(iii) The given function is Jf (¥)=—(x=1) +10
2
It can be observed that (¥=1)" 20 for every xeR.

2
Therefore, ./ (¥)==(x=1) +10<10 g4, every xeR.

The maximum value of fis attained when (x-1)=0

(x-1)=0

=1

Therefore, Maximum value of
r=r{
=—(1-1)"+10
=10

Hence, the function /* does not have a minimum value.

3
(iv) The given function is & (x)=(x) +1
Hence, function £ neither has a maximum value nor a minimum value.

Question 2:
Find the maximum and minimum values, if any, of the following functions given by:

(i) f(x)=|x+2|-1

(ii) g(x)=—|x+1+3

(i) h(x)zsin(2x)+5
(iv) S (x)=|sin4x+3|

(v) h(x)=x+1Lxe(-L1)

Solution:

(i) The given function is / (x)=|x+2|-1
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It can be observed that [¥+2/20 for every xeR.
Therefore, f(x)=|r+2| =121 gor every xeR.

The minimum value of fis attained when x+2[=0
lx+2|=0

=x=-2

Therefore, Minimum value of
[=1(2)
=|-2+1|-1
=1

Hence, the function ./ does not have a maximum value.

The given function is &(¥)= —|x+1]+3
It can be observed that —1* + 1| <0 for every xeR.
Therefore, / (¥) = —Pr+1[+3<3 gy every xeR.

The maximum value of g is attained when |x + 1| =0
|x + 1| =0
=x=-1
Therefore, maximum value of
g=g(-1)
=—|-1+1|+3
=3

Hence, the function £ does not have a minimum value.

(iii) The given function is h(x)=sin(2x)+5

(iv) The given function is J

We know that —1<sin2x <1
Therefore,

= -—-1+5<sin2x<1+5
= 4<sin2x+5<6

Hence, the maximum and minimum values of / are 6 and 4, respectively.

(x) =|sin 4x+3‘

We know that —1 <sin4x <1
Therefore,
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= 2<smn4x+3<4

= 2<|sin4x+3|<4

Hence, the maximum and minimum values of / are 4 and 2, respectively.

(v) The given function is h(x)=x+1xe(-11)

)

. . . +1>x, +1
Here, if a point % is closest to —! , then we find 2 " forall % € (*LI).
x+l< 1
Also, if % is closest to 1, then find ™' 2 forall % s(-L1),

Hence, function h(x] has neither maximum nor minimum value in (_1=1) .

Question 3:
Find the local maxima and minima, if any, of the following functions. Find also the local
maximum and the local minimum values, as the case may be:

i flx)=x’

iy &lx)=x-3x
(i) h(x)=sinx+cosx,0<x<%
(iv) f(x)=sinx—cosx,0<x< 2
(v) f(x)=x-6x"+9x+15

(vi) g(x}=%+%,x>0
1

wiy 977

(viii) f(x)=xvl-x,0<x<1

Solution:
G Jf(x)=x
Therefore,
f '(x) =2x
Now,
f'(x)=0
=x=10

Thus, x=0 is the only critical point which could possibly be the point of local maxima
or local minima of /.
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We have /"(0)=2 , which is positive.

Therefore, by second derivative test, x=0 is a point of local minima and local minimum

value of / at x=0 is /(0)=0

g(x)=x"—3x
Therefore,
g'(x)=3x"-3
Now,
g'(x) =(
=3%’-3=0
= |
Also,
g'(x)=6x
g"(l) =6>0
g"(-1)=-6<0

By second derivative test, x =1 is a point of local minima and local minimum value of &
at x=11s
g (1) =1"-3
=1—-3
=2

However, x=-1 is a point of local maxima and local maximum value of £ at x=-1 is

g(-1)=(-1)"-3(-1)
=—1+3
=2

. T
h(x)=sinx+cosx,0< x<5

Therefore,

h'(x)=cosx—sinx

Now,
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h'(x)zO

= cosx—sinx=0
= sinx=Ccosx
=tanx=1

:>x=£e[0,£]
4 2

Also,
h"(x)=—sinx—cosx

= —(sinx+cosx)

“"[%J“;E%*%)

J2
=—2<0

Hence,

_r
4

Therefore, by second derivative test, g is a point of local maxima and the local

T
. X=—.
maximum value of / at 4 1S

T .7 vid

h| — |=sin—+cos—

(4] 4 4
N S

2 2

=2

(iv) f(x)=sinx-cosx,0<x<2r

Therefore,
f'(x)=cosx+sinx

Now,
f(x)=0
= cosx+sinx=0
= sinx =—CosX

= tanx =-—1
ix=3—n,7—ne(0,2z)
4 4
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Also,
f"(x)=-sinx+cosx

Hence,
. 31 . (3m 3
S| — |=—sin| — [+cos| —
4 4 4

{33

=—/2<0
252

o
=42>0

3

xXx=
Therefore, by second derivative test, ( 4 J is a point of local maxima and the local
)
x=|—
maximum value of ./~ at 4 ) is
f[?}—?r] =sin [3—?:] mcos(s—ﬁj
4 4 4
: [L+LJ
V2 2
i

771')
x=|—
However, ( 4 ) is a point of local minima and the local minimum value of ./

L3,
[

(V) f(x):x3—6x1+9x+15

Therefore,
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f'(x)=3x" -12x+9

Now,
f'(x)=0
= 3x*-12x+9=0
= 3(x-1)(x-3)=0
==l 3
Also,
f'(x)=6x-12
=6(x-2)
Hence,

f"(1)=6(1-2)=-6<0

Therefore, by second derivative test, x =1 is a point of local maxima and the local
maximum value of /" at x=1 is

f(1)=1-6+9+15
=19

However, x =3 is a point of local minima and the local minimum value of /" at x=3 is
f(3)=27-54+27+15
=15

x 2

=—+—,x>0
g(x)=5+—x
Therefore,

; 1 2
£)=5-a

Now,
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Since, x>0, we take x=2

Hence,

=—>0

4
F

A1
2 2

Therefore, by second derivative test, x=2 is a point of local minima and the local

minimum value of £ at x=2 is

2 2
===
g() 2+2
=1+1
1
g(x)=12+2
Therefore,
, —(2x)
g\x)=
) (;!cl+2)2
Now,
g'(x)=0
N
(x2+2)
-x=0

Now, for values close to x =0 and to the left of 0, £ f(") >0

J
Also, for values close to x=0 and to the right of 0, &
Therefore, by first derivative test, x =0 is a point of local maxima and the local maximum

value of
b
+2

(viiiy S (x)=xvl-x,0<x<l

Therefore,
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7 (x]=@+x[2J:__xJ(—l)
- l_x_zJi_x
_2—x)~x
T 2J1-x
o 2R
N
Now,
f’(x)=0
. 2-3x -0
2\1-x
=2-3x=0
2
:>x—§
Also,
\/_ -1
i 1—x(—3)—(2—3x)(2J1_—x]
f”(x)zi 1-x
ﬂ(-3)+(2-3x)[2\hl__x]
) 2(1-x)
_—6(1-x)+(2-3x)
a(1-x)(V1-x)
_ 3x—4
4(1-x):
Hence,
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W N

Therefore, by second derivative test, ¥ is a point of local maxima and the local

2
. X=—.
maximum value of / at 3 is

03

Question 4:
Prove that the following functions do not have maxima or minima:

i JSx)=¢
(il g(x)=logx
(III) h(x)=x3+xz+x+l

Solution:
a J(x)=¢
Therefore,
/(x)=¢
Now,

WWwWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

cuemath

THE MATH EXPERT

4

f'(x)z[)

=e =0

But the exponential function can never assume 0 for any value of X .

f S
Therefore, there does not exist ¢ € R such that / (C) =0
Hence, function /* does not have maxima or minima.
(”) g(x)=logx
Therefore,

¢(x)=

(]
Since log x is defined for a positive number *:& (x)>0 gor any X.

Therefore, there does not exist ¢ € R such that & (c)=0 2

Hence, function £ does not have maxima or minima.
Y. 2
(iii) h(x)=x'+x"+x+1

Therefore,
'(x)=3x"+2x+1
Now,
h(x)=0
=3x* +2x+1=0
o 2422

—1+/2i
I_;'@iR

Therefore, there does not exist ¢ € R such that W (c)= 0.

Hence, function & does not have maxima or minima.
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Question 5:
Find the absolute maximum value and the absolute minimum value of the following functions
in the given intervals:

(i)

(ii)

(i)

f(x)=x",xe[-2,2]

f(x)=sinx+cosx,xe[0,7]

1, w2
f(x)—4x—5x ,xe[ 2,2}

(v) f(x)= (x—=1)" +3,xe[-3,1]

Solution:

(i)

(i)

3
The given function is f(x)=2x

Therefore,
F(x)=3"
Now,
f'(x)=0
=3x*=0

Then, we evaluate the value of / at critical point x =0 and at end points of the interval
[-2.2],
Therefore,
f(0)
f(-2)

0
{2y
-8

7(2)=(2y

=8

Hence, we can conclude that the absolute maximum value of ./ on [_2° 2]

at x=2.

is 8 occurring

[-2,2

Also, the absolute minimum value of ./ on ] is -8 occurring at x =-2.

The given function is f (x) =sinX+Ccosx

Therefore,

f'(x)=cosx-sinx
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Now,
f'(x)=0
= cosx—sinx=0
= s§inx =Ccosx
= tanx =1

(A
— X =
4

T
Then, we evaluate the value of ./ at critical point "4 and at the end points of the

interval [Ov r ] )

Therefore,
T (T b
K ij (Ej =sin (ZJ +¢c08 [E)
112
N2 2P
=2
£(0)=sin0+cos0
=0+1

=1
f(x)=sinm+cosm
—0-1

=-1

Hence, we can conclude that the absolute maximum value of ./ on [0’” ] is V2

occurring at vy
Also, the absolute minimum value of ./ on [0’” ] is 1 occurring at X=1 .

-
(iii) The given function is 7 ¥ =4~ 3%

Therefore,
: 1
F(x)=4-1(2%)
=4—x

Now,
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Sf'(x)=0
= 4=x=1
=x=4

Then, we evaluate the value of / at critical point x =4 and at end points of the interval
3
2],

Therefore,

7(4)=16-2(16)
=16-8

9 19}
o e [ 2
5)-53)
wiffiadl
8
=18-10.125
=T7.R75

9
2
Hence, we can conclude that the absolute maximum value of ./ on [ 2] is 8 occurring

at x=4.

2
Also, the absolute minimum value of ./ on [ 2] is -10 occurring at x =-2.

The given function is ./ (x)=(x=1)"+3

Therefore,
JS'(x)=2(x-1)
Now,
f'(x)=0
=2(x-1)=0
=x=1
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Then, we evaluate the value of / at critical point x =1 and at end points of the interval
[-31]

f(1)=(1-1)'+3
=3
f(-3)=(-3-1)"+3
=16+3
=19

Hence, we can conclude that the absolute maximum value of ./ on [_3’1] is 19 occurring
at x=-3.

Also, the absolute minimum value of ./ on [_3’1] is 3 occurring at x =1.

Question 6:
Find the absolute maximum profit that a company can make, if the profit function is given by:

p(x) =41-24x-18x"

Solution:

2
The profit function is given as ¥ (x)=41-24x-18x

Therefore,
p'(x)=-24-36x
Now,
p'(x)=0
=24-36x=0
24
SN R il
36
-2
=S x=—
3
Also,
-2
"—1=-36<0
p[s]
2

By second derivative test, 773 is the point of local maxima of 7 .

Therefore, maximum profit
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(ot 3
3 3 3
=41+16-8
— 49

Hence, the maximum profit that the company can make is 49 units.

Question 7:
Find both the maximum value and the minimum value of 3x*—8x’ +12x’> —48x+25 on the

interval [0’ 3] .

Solution:
Let J(%)=3x"-8x* +12x* - 48x + 25

Therefore,
f'(x)=12x" - 24x" +24x- 48
=12(x* - 24" +2x-4)
=12[ * (x-2)+2(x-2)]
=12(x-2)(x* +2)
Now,
S'(x)=0
= x=2=0
—Sa=2

Now, we evaluate the value of / at critical point x =2 and at the end points of the interval
[0.3].
Therefore,
£(2)=3(2)"' -8(2)" +12(2)" - 48(2)+ 25
=48-64+48-96+25
=-39
7(0)=3(0)"=8(0)" +12(0)" —48(0) +25
=25
7(3)=3(3)" -8(3)" +12(3)" - 48(3)+ 25
=243-216+108-144+25
=16
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Hence, we can conclude that the absolute maximum value of / on [0’3] is 25 occurring

at x =0 and the absolute minimum value of /* at [0’3] 1s =39 occurring at x=2.

Question 8:

At what points in the interval [0.27] does the function sin 2x attain its maximum value?

Solution:

Let f(x) =sin 2x

Therefore,
S'(x)=2cos2x

Now,

3 5m Im
4’ 4 4 and at the end points of

T
. . X=—,
Now, we evaluate the value of / at critical point 4

the interval [0’ 27 ] .

Therefore,
(7 .
— |=sin—=1
! 4] 2
3 :
— |=sin—=-1
\ 4 )
£
f 5—” =sin—=1
\ 4
) . In
—_— = —=—1
fk e sin -
f(0)=sin0=0

f(2:rr)=sin2;r =0
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Hence, we can conclude that the absolute maximum value of / on [0.27] s occurring at
5T
and 4 .

Question 9:
What is the maximum value of the function sinx+cosx ?

Solution:
Let / (x) =sinXx+cosx
Therefore,

S'(x)=cosx—sinx
Now,

f'(x)=0
=cosx—sinx=0
= 8in X =Cos X
=tanx=1

T Sm
Xx=—,—...
4 4
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Hence,
S"(x)=—-sinx—cosx

=—(sinx+cosx)

Now, / "(%) will be negative when (sinx+cosx) jg positive i.e., when sinx and cosx are both
positive.

Also, we know that sinx and cosx both are positive in the first quadrant.

2 xXe (0,—}
Then, /"(%) will be negative when 2).
T

. X
Thus, we consider 4

AE = Tl el
f [Z]_ (sm4+cos4j

43
=—/2<0

T
. : : x=— : :
By second derivative test, / will be the maximum at 4 and the maximum value of / is

s . T T
— [=sin—+cos—
f[4} 4 4

X

Lol
51

Question 10:

Find the maximum value of 2x* —24x+107 in the interval [1’3]. Find the maximum value of

the same function in [_39_1] )

Solution:

Let J(x)=2x—24x+107
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Therefore,
S(x)=6x"-24
=6(x*-4)

Now,
f'(x)=0
=6(x’-4)=0
=x'=4
o

We first consider the interval [1:3].
Then, we evaluate the value of /* at the critical point * = 2€[1.3] and at the end points of the

interval [1’3] .

Hence,

f(2)=2(2)’-24(2)+107
=16-48+107
=75

F(1)=2(1)" -24(1)+107
=2-24+107
=85

£(3)=2(3) -24(3)+107
=54-72+107
=89

Thus, the absolute maximum value of / (x) in the interval [1.3] is 89 occurring at x =3.
Next, we first consider the interval [_3’_1] )

Then, we evaluate the value of / at the critical point * = —2e [”33_1] and at the end points of

the interval [_3’_1] .

Hence,
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7 (-3)=2(-3)" —24(-3)+107
=-54+72+107
=125

F(=1)=2(-1) -24(-1)+107
=—2+424+107
=129

f(=2)=2(-2)" -24(-2)+107
=-16+48+107
=139

Hence, the absolute maximum value of / (*) in the interval [_3= _1] 1s 139 occurring at x =-2

Question 11:
It is given that at x=1, the function x*—62x’+ax+9 attains its maximum value, on the

interval [0=2] . Find the value of «a.

Solution:
Let J(x)=x"-62x*+ax+9

Therefore,
f'(x) =4x’ —124x+a

It is given that function / attains its maximum value on the interval [0.2] at x=1.
Hence,

J(1)=0

=4x —124x+a=0
=4-124+a=0
=-120+a=0
=a=120

Thus, the value of a=120.

Question 12:

Find the maximum and minimum values of x+sin2x on [0= 2”] .
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Solution:

Let /(x)=x+sin2x

Therefore,
S'(x)=1+2cos2x

Now,
f(x)=0

=1+2c0s2x=0

-1 T [ rr) 2n
= 082X =—=—C0S—=C0S| T —— | =CO0S—
2 3 3

3
2
:>2x=2mriT [neZ]
T
=D x=nm i; [n & Z]
= E’Z_E,E,'Si = [0’2n-]
373 3 3
s T 0 65T 00
Then, we evaluate the value of /" at critical points ©~ 3" 3 * 3 7 3 and at the end points of

the interval [0= 2”] 4
Hence,

2 V3
3 2
155 pme(3)
_4n 3
3 2
GHE e 3)
sz _A3
3 2
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£(0)=0+sin0
=0
S (2n) =27 +sin4r
=27+0
=27

Hence, we can conclude that the absolute maximum value of J (x) in the interval [0’2”] 1S

27 occurring at x =27 and the absolute minimum value of /(%) in the interval [0:27] is 0
occurring at x=0.

Question 13:
Find two numbers whose sum is 24 and whose product is as large as possible.

Solution:
Let one number be x.

Then, the other number be (24-x)

Let P(¥) denote the product of the two numbers.
Thus, we have:

P(x) = x(24— x)

=24x—x*
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P'(x)=24-2x
P"(x) =g
Now,
P'(x) =0
=24-2x=0
=24=2x
=x=12
Also,
P'(12)=-2<0

By second derivative test, x =12 is the point of local maxima of P .

Thus, the numbers are 12 and (24-12)=12

Hence, the product of the numbers is the maximum when the numbers are 12 each.

Question 14:

Find two positive numbers x and ¥ such that x+» =60 and %’ is maximum.

Solution:

The two numbers are x and ¥ such that x+y =60
Therefore,

=y=60-x

Let, f(x):xy3
f(x)=x(60-x)’

Therefore,

f'(x)=(60-x) —3x(60-x)’
=(60-x)"[60-x - 3x]
=(60-x)(60-4x)

S"(x)=-2(60-x)(60 —4x)—4(60-x)°
=-2(60-x)[ 60~ 4x+2(60-x)]
=-2(60-x)(180 - 6x)
=-12(60-x)(30-x)
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Now,
I'(%)=0

=x=600rx=15
When, x =60
Then,

f'(x)=0

When, x=15
Then,

S"(x)=-12(60-15)(30-15)
=—12x45x15<0

By second derivative test, x =15 is a point of local maxima of / .

Thus, function ¥V’ is maximum when x=15 and ¥y =60-15=45_

Hence, the required numbers are 15 and 45.

Question 15:

Find two positive numbers x and » such that their sum is 35 and the product X'y s a
maximum.

Solution:
Let one number be x.

Then, the other number is Y = (35-x ) 4
Let P(x)=x"
Then we have, P(x)=x" (35—3‘)5

Therefore,
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P'(x)=2x(35-x)" -5x* (35-x)'
= x(35-x)"[2(35-x)-5x]
=x(35-x)" (70-7x)
=7x(35-x)" (10~ x)
P"(x)=7(35-)' (10-x)+ 72| - (35 -x)" ~4(35-x)’ (10-x)
=7(35-x)"' (10-x)-7x(35-x)" - 28x(35-x)’ (10~ x)
=7(35-x)"[(35-x) (10— x) - x(35 —x)—4x(10-x) |
=7(35-x)’[350—45x+x* —35x+ x* — 40x + 4x° |
)

=7(35-x)’(6x* ~120x +350)

Now,
P'(x)= 0
=x=0,2=35x=10
When, x =35
Then,
P'(x) = P(x) =0
= y=35-35=0

This will make the product X'y equal to 0.

When, x=0
Then,
= y=35-0=35

This will make the product *°¥” equal to 0.

Hence, x=0 and x =35 cannot be the possible values of x.

When, x=10
Then,

P"(x)=7(35-10)’ (6x100-120x10+350)
=7(25)' (-250)< 0
By second derivative test, © (*) will be the maximum when x=10 and ¥=35-10=25

Hence, the required numbers are 10 and 25.
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Question 16:
Find two positive numbers whose sum is 16 and the sum of whose cubes is minimum.

Solution:

Let one number be x.
Then, the other number be (16 n x) .

Let the sum of the cubes of these numbers be denoted by S(x).

Then,
S(x)=x+(16-x)’
Therefore,
S'(x)=3x*-3(16-x)’
S"(x)=6x+6(16—x)
Now,
S'(x)=0
=3x*-3(16-x) =0
=t =(16-2) =0
= x’—256—x"+32x=0
256
=>X=—
32
=>x=8
Also,

S"(8)= 6(8]+6(16—8)
=48+48
=96>0

By second derivative test, x =8 is the point of local minima of S .

Thus, the numbers are 8 and (16_8) =8
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Hence, the sum of the cubes of the numbers is the minimum when the numbers are 8 each.

Question 17:

A square piece of tin of side 18cm is to be made into a box without top, by cutting a square
from each corner and folding up the flaps to form the box. What should be the side of the
square to be cut off so that the volume of the box is the maximum possible?

Solution:

Let the side of the square to be cut off be x cm.

Then, the length and the breadth of the box will be (18—=2x)cm each and the height of the box
be x cm.

Therefore, the volume V(x) of the box is given by,
V(x)=x(18-2x)’

Hence,

V'(x)=(18-2x)" —4x(18—2x)
= (18-2x)[18-2x - 4x]
= (18-2x)(18-6x)
=6x2(9-x)(3-x)
=12(9-x)(3-x)

V' (x)=12(-9-x)(3-x)
=—12(9-x+3-x)
=-12(12-2x)
= -24(6-x)

Now,
V'(x)=0

=500 =0,%=3

If, x=9 then the length and the breadth will become 0.
Hence, x#9
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When, x=3
Then,
V"(3)=-24(6-3)
=-72<0

By second derivative test, x =3 is the point of local maxima of V.

Hence, if we remove a square of side 3cm from each corner of the square tin and make a box
from the remaining sheet, then the volume of the box obtained is the largest possible.

Question 18:

A rectangular sheet of tin 45¢m by 24cm is to be made into a box without top, by cutting off
square from each corner and folding up the flaps. What should be the side of the square to be
cut off so that the volume of the box is the maximum possible?

Let the side of the square to be cut off be x cm.

Then, the height of the box is x cm, the length is (43=2%)m and the breadth is (24—2x)cm

Therefore, the volume ¥ (%) of the box is given by,

V(x)=x(45-2x)(24-2x)
= x(1080—90x - 48x+4x )
=42’ ~138x% +1080x

Hence,

V'(x)=12x* —276x+1080
=12(x* = 23x+90)
=12(x-18)(x-5)

V'(x)=24x-276
=12(2x-23)

Now,
V'(x)=0

=x=18x=5

It is not possible to cut off a square of side 18¢m from each corner of the rectangular sheet.
Thus, x cannot be equal to 18.
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When, x=35
Then,
v'(5)=12(2(5)-23)
=12(10-23)
=12(-13)
=-156<0

By second derivative test, x=5 is the point of local maxima.

Hence, the side of the square to be cut off to make the volume of the box maximum possible
is Scm.
Question 19:

Show that of all the rectangles inscribed in a given fixed circle, the square has the maximum
area.

Solution:
Let a rectangle of length / and breadth b be inscribed in the given circle of radius a.

Then, the diagonal passes through the centre and is of length 2a cm .

Now, by applying the Pythagoras theorem, we have:
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(2a)’ =1 +b

=b =4d’ P

=b=+4a’ -1
Area of triangle, 4 =[V4a* —I*
Therefore,
dA 1
—=~da* -’ +|———=(-2I
al 24a* -1 =)
2
=v4a* -1’ - 4
Vaa' -1
_ 4a* - 20°
Vda* =TI
o ' (-2)
iA_ 4a° -1 (-41)-(4d® -2;2)2 -
di’ 4a* -1I?
(4a° ~1?)(-41) +1(4a® - )
= 3
(4a” -1 )
_ ~Ipaiaal
s 7
(4.:1!2 —12)5
=2(6a* -1)
o A
(40> -17)
Now,
a4 _
dl
Hence,
g 4q* =217 0
Vda® =TI
= 4q* =2I°
=1=2a
Thus,
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=+2a’
=2a
When, /= V2a
Then,
a4 —2(N2a)(6a’-24)
drr 224’
_ 824
224°
=—4<0

By the second derivative test, when /= NGY, , then the area of the rectangle is the maximum.

Since, [ =b=+/2a the rectangle is a square.

Hence, it has been proved that of all the rectangles inscribed in the given fixed circle, the
square has the maximum area.

Question 20:
Show that the right circular cylinder of given surface and maximum volume is such that is
heights is equal to the diameter of the base.

Solution:
Let 7 and % be the radius and height of the cylinder respectively.

Then, the surface area (S) of the cylinder is given by,

S =2nr’+2nrh

Therefore,
_§- 2r?
2nr

=5
= | = |—p
2 \r

Let V' be the volume of the cylinder.

h

Then,
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V=nrh
27
= g—ﬂ'r}
2
av = il =3nr
dr
2
4k =—-67r
dr?
Now,
dav
b7
dr
=—-37r’ =
== =37
=’ -5
6
2=
When, 61
Then,
dv
dr?

By second derivative test, the volume is the maximum when

2
Now, when "
Then,

h

Hence, the volume is the maximum when the height is twice the radius i.e., when the height is

Sy
61,

6?1'?'2[1]
= |
2 \r

equal to the diameter.
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Question 21:

Of all the closed cylindrical cans (right circular), of a given volume of 100 cubic centimeters,
find the dimensions of the can which has the minimum surface area?

Solution:

Let 7 and % be the radius and height of the cylinder respectively.

cuemath

THE MATH EXPERT

Then, volume (V) of the cylinder is given by,

V=nr'h=100
zh:@
Tr

Surface area (

Hence,

Now,

S) is given by:

S =2nr’+2xrh

=2nr* o

:)4:rrwg)-g=0

$4ﬂ?‘=@

_, 3 =200_50
4dr 7w

1
)
=>r=|—
T
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By second derivative test, the surface area is the minimum when the radius of the cylinder is
1
B

— | cm
Vi3

2x50

(50 ()

A2

Hence, the required dimensions of the can which has the minimum surface area is given by

1 1
[ 50 ]3 [50]5
) — | cm _ 2| — | cm
radius \ 7 and height \ 7

Question 22:

A wire of length 28m 1s to be cut into two pieces. One of the pieces is to be made into a square
and the other into a circle. What should be the length of the two pieces so that the combined
area of the square and the circle is minimum?

Let a piece of length / be cut from the given wire to make a square.

Then, the other piece of wire to be made into a circle is of length (28-1)m
L
Now, side of square is 4

Let 7 be the radius of the circle.

Then,
2nr=28-1
[
r=—o» 28 —[
=9 27;:( )

The combined areas of the square and the circle, (4) is given by,
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A= (side of the .s‘ag'u.air".e)2 +nr?

Hence,

d4_ 20 2
=y (28 1Y
TATA ROl

Now,

. ﬂ:l—4(28—f)=G|
87
:>(:r+4)f—112=0

112

=l=—
m+4

12
When, n+4
Then,

d* 4
dr

>0

112
o : . [= m
By second derivative test, the area (4) is the minimum when = 7 +4

Hence, the combined area is the minimum when the length of the wire in making the square is

mn2 [28_ 112 ]_ 287

m+4  while the length of the wire in making the circle is m+4) m+4
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Question 23:
8

Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is 27 of
the volume of the sphere.

Solution:
Let 7 and & be the radius and height of the cone respectively inscribed in a sphere of radius R.

Let ¥V be the volume of the cone.
1
V=—nrh
Then, 3 o

Height of the cone is given by,

h=R+ AB
=R+R*—¥ [A4BC is aright triangle|
Hence,
V=%7L‘P‘2 (R+\HR2—F2)
=§n’r2R+%m‘2\}Rz—r2
Therefore,
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-2
ﬂ:£xrR+£xr\}R?—rz - ()

dr 3 3 3 R
=E?rrR +£?rrsJR2 -r? —ljr. r
3 3 3 RE _j2
2rr(R =) —m#”
=ExrR+ ( )
3 R =
B E?I?"R—l- 2rrR* —3xr?
3R =42
3VR? —#? (2?51?2 —97rr2)—(2;'rrR2 —3?rr3) —(_ﬂ—
sz 2 3 6 R2 _rz
7 =—%R+ — v
dr* 3 9(R*-r?)
9(R* —+*)(27R* —97+7 )+ 221’ R* + 3x1"
=—nxR+ -
27(R?—12)?
Now,
W _q
dr
= g-n‘rR " 2nrR* =3nr "
WR —#
o2 s 3nr - 2nrR’
R —#*
2 2
. 3r =2R
RZ -l rZ
= 2RVR* —r* =31 -2R*
= 4R (R —r*)=(3r* —2R%)’
=S 4R —4Rr* =9r* +4R* -12r°R?
= 9r* =8R**
=r’ =§R2
8
?2 =_R2
When, 9
dv
—=<0
Then, dr’
By second derivative test, the volume of the cone is the maximum when
?2 =§R2
When, 9

Then,
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h=R+‘fR2—§R2
9

4

Therefore,

333
3 19 3
=£[iﬂ}g3]
27\3

= % x (Volume of sphere)

Hence, the volume of the largest cone that can be inscribed in the sphere is 27 the volume of

the sphere.

Question 24:

Show that the right circular cone of least curved surface and given volume has an altitude equal

to +/2 time the radius of the base.

Solution:

Let 7 and % be the radius and height of the cone, respectively.

Then, the volume (V) of the cone is given by,
1

V =—nrh
3
= h= 3V2
mr

The surface area (5) of the cone is given by,
S =nrl, where [ is the slant height

Hence,
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S=marir+h"

5 . OF?

= r +——
Ty

- Nt +9r?

2
nr

N RO

¥

4

Therefore,
67’ T e 7
e aane—— o A ]
as _ _ Nmirt+9?
dr 'l
_3nrt —m?rt —91r?
rzx/nzyﬁ +91?
# 2738 —9p?
PN+ 9p
Now,
as _o
dr
277t —9p?

=0

—
F’z\/?rzf‘ﬁ +9p?
=278 = 9)*

¢ 97
= =—
2n
s W’ d’s
. : . reo—o =—=>0
Thus, it can be easily verified that when 2g"  dr
By second derivative test, the surface area of the cone is the least when 2z
s I
P = ~ 2
When, 2
Then,
3V
h=—s>
31'?'2
14 [27:%»6 ]2
=— 2
nr 9
3o
ot 3
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Hence, for a given volume, the right circular cone of the least curved surface has an altitude

equal to V2 times the radius of the base.

Question 25:
Show that the semi-vertical angle of the cone of the maximum volume and of given slant height

is tan "' V2

Solution:
Let 0 be the semi-vertical angle of the cone.

. 0e |:0, £:|
It is clear that 2.1 .

Let " and ! be the radius, height, and the slant height of the cone respectively.

The slant height of the cone is given as constant.

Now, "=Isin0 and h=Icos0

The volume () of the cone is given by,

V= lfrrzh
3

1 4
= Eﬂ:(fz smzﬁ')(l cosf)
= %7:[3 sin” @ cosf

Therefore,
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av _al’
do 3
ﬂTP i . 3

=T[—sm 0 +2sin @ cos 6‘]

[sin2 6 (—sin@)+cosO (2sin O cosﬂ)]

2 %
j;; - %[—BSinEQ cosB +2cos’0 — 4sin290059]

= i[20::05319 —7sin’0 cosB]
3
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Now,
a _
do
J'TP P . 3
:—[—sm 6 +2sinf cos 9:|=0
3

0

= sin’ @ = 25in0 cos’
=tan’ =2

= tanf =2
=>6=tan"'2

When, 0 = tan™ 3
Then, tan*@ =2 or sin’@ =2cos’6 .

Hence, we have:
v _=l
de* 3

=%F[—1200539:[

[2(:0539—1400539}

=—4xl’cos’8<0 V 6 E[O,%_‘

By second derivative test, the volume (¥) is the maximum when 0 = tan"’ V2.

Hence, for a given slant height, the semi-vertical angle of the cone of the maximum volume
is tan"' V2.

Question 26:
Show that semi-vertical angle of right circular cone of given surface area and maximum

~ sin” (lJ
volume is 3).

Solution:
Let 7 be the radius, / be the slant height and % be the height of the cone of given surface area

S.

Also, let a be the semi-vertical angle of the cone.
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i
i
!
h
sl
Then,
S=nxrl+mr’
S—nr’
= = a1
— (1)
Let ¥ be the volume of the cone.
Then
V=l::rr2h
3
V2 = n,?.rllh?.
—n’r? (32 rz) [ "= +h2:|
1 s | (8=2®Y
=S [ nr ] —r2]
Tr
I S—nr’) -ni!
= Lty ( 2)
TF
1 2 2 2
=—r°(S°-287nr
(52 -2smr)
1
p? =§Sr2(S2—2:n:r2) .(2)

Differentiating (2) with respect to », we get

2Vﬁ=1s(2s;~—8;zr3)
dr 9

dv
For maximum or minimum, put dr
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iés(zsr—sfrr-‘)ﬂ

= 28r-8xr =0 [ S % 0]
= § =47 [ r=0]
=ri= £

47

Differentiating again with respect to 7, we get
3 2
wé I: ol =ls(2S—24xr2)
d dr 9

s
)
e L
9

=2V 28—247r><i]

4

2
=2V i IZ/ =1S(2S—6S)
dar* 9
d’ 4
E=——Sz <0
dr 9
Thus, V is maximum when S =477°.

=2

Therefore,
S=nrl+nr
= 4nr’ = vl + 1
= 3nr? = vl
=]/ =3r
Now, in ACOB,
. OB
sing = —
BC
st
[
_r !
3r 3
- [ 1]
o =sin | —
3
Question 27:

The point on the curve x* =2y which is nearest to the point (0.5) is

@) (2v2.4) ®) (2¥2.0) () (0,0)

() (2.2)
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Solution:

The given curve is x° =2y

X ]
xX,—
For each value of x, the position of the point will be [ 2 ).

xz

P[x,—]
Let 2 ) and 4(9.5) are the given points.

Now distance between the points P and A is given by,

:>PA=J(x—0)2+{%2—SJ2

) 2
= P4 =(x-0)2+[x?-sj

4
— P4 =x2+%+25—5x2

4

:>PA2=%—4x3+25

= PA = -8y +25 (v #*=2y)
Let us denote P4* by Z

Then, Z=y"—8y+25

Differentiating both sides with respect to v, we get
dz

2y—8
dy ¥

For maxima or minima, we have

= =0
dy
=2y-8=0
=2y=8
= y=4
Also,
2
VA
P
Now,
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2
[d 'ﬂ =2>0
dy i

4

—p? =2y
= x’=2x4
—x' =8
= x=122

(2‘/5’4) or (_2‘5’4) .

So, Z is minimum at

(2‘5’4) or (_2‘5’4) .

2 . P
Or, PA” is minimum at

(2‘/5’4) or (_2‘5’4) .

Or, PA is minimum at

xz

Pl x,—
So, distance between the points [ 2 ] and 4(0.5) is minimum at (2‘/5’4) or (_2\5’4).

Thus, the correct option is A.

Question 28:
1-x+x°
For all real values of x, the minimum value of 1+ x+x* is

1
A0 (B) | ©)3 D) 3
Solution:
Flaj= 1-x+x?
Let BT
Therefore,
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(1 +x+x2)(—1+2x)—(1 —x+x2)(1 +2x)

(1+x+x:‘)2

r'e)-

14 2x—x+2x" —x"+2xX° —1-2x+x+2x> —x* - 2%’

(1+x+x:")2

2x* -2
(1+x+x2)2
2(x*-1)

(1+x+x2)2

Now,

Il
o

f'(x)
= x’ =1

e 25 i 1

Also,
2| (1345 ) (26)=( 1) @) (1+x+2) (1+2) |
(1+x+x7)’
(14 x40 ) (14246 ) x—(+* ~1)(1+2%) |
(l+;v:+:t:2)4

B 4[x+x1 3t~ — 25 +1+2x]

()=

(]+x+x3)3
B 4(1+3x-x")

F (1+x+x2)3

Hence,

4(1+3-1)
(14141’
4(3)

@)
_12
)
4

=—>0
9

7=

Also,
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4(1-3-1)
" _1 — S
S (1-141)
~4(-1)
=—4<()

By second derivative test, / is the minimum at x=1 and the minimum value is given by,

f(1)=1_1+1

1+1+1

Thus, the correct option is D.

Question 29:

1
The maximum value of [x(x_ 1)+ 1]3 e T

1% 1
(A) [?J (B) 2 (0) 1 (D) 0
Solution:

Lot /(1) =[x(x=1)+1]

Therefore,
. 2x-1
f'(x)= 2
3[x(x—1)+1]
Now,
f'(x)=0
1
= x=—
2

1
. L X== . :
Then, we evaluate the value of / at critical point 2 and at the end points of the interval

[0=1] 1e,at x=0 and x=1.
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f(o)=[0(0-1)+1]§
=1

f(l)=[l(1—1)+1:|%

ey
"

Hence, we can conclude that the maximum value of / in the interval [0= 1] 1s 1.

Thus, the correct option is C.
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MISCELLANEOUS EXERCISE

Question 1:

Using differentials, find the approximate value of each of the following.

(i)
(ii)

(&)

(33)°

Solution:

(i)

1
&)
81
1
Consider ¥ =(¥)*

6 1

Let © 8l and 81

Then,

Ap=(x+Ax)t —(x)t

81

E.t
81

17 )+
\ 81

2
ZiAy=
3 T AY

Now, @y is approximately equal to Ay

E4

I
&)
81

1

P

3

and is given by,
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()

(& =]

4(x)

= ]
4(&]% 81
81
27 1

¥ —

T 4x8 8l

~32%3

96
=0.010

Hence,

1
(ET =2 0010
81) 3

=0.667+0.010
=0.677

1
[EJ“ ~0.677
Thus, the approximate value of \ 81 .
ik
Giy (33)
1

Consider V= (x]"g
Let x=32 and Ax=1

Then,
Ay =(x+ Ax)_% —(x)_%
= (33)3-(32)°¢

:(33)‘% _l

(o)

1
S+ay=(33)"

Now, 4y is approximately equal to Av and is given by,
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(33)75 = S+(-0003)

=0.5-0.003
=0.497

1
Thus, the approximate value of (33) ¥ =0.497

Question 2:
Show that the function given by
Solution:
(x) _ log x
The given function is c
Therefore,
g
x| — [-logx
; X
X)=—"t—
70 =2
_1-logx
=
Now,
/'(x)=0
=1-logx=0
= logx =1
= logx =loge
=
Also,

(x) _ log x

x has maximum at x=e.
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f(x)= xz('ﬂ‘(‘—logx)(zx)

x4

~ —x—2x(1-logx)
= p
-3+2logx

x3

Now,

z —3+2loge
fr(e)=——F—
e
_—3+2
efi
-1
=—<0
23 (

Therefore, by second derivative test, / is the maximum at x=e.

Question 3:

The two equal sides of an isosceles triangle with fixed base b are decreasing at the rate of 3
cm per second. How fast is the area decreasing when the two equal sides are equal to the base?

Solution:
Let AABC be isosceles where BC is the base of fixed length 4.

Also, let the length of the two equal sides of AABC be a.
Draw AD L BC.

B D%C

Now, in AADC, by applying the Pythagoras theorem, we have:

AD=Ja2—£
4

Area of triangle,
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A==b,|a* -2
2 4

The rate of change of the area with respect to time (1) is given by,
d4 1 2a da

a2 2 dt
) a2_b_
\ 4

ab da

“ag v d

It is given that the two equal sides of the triangle are decreasing at the rate of 3cm per second.
Therefore,

ﬁ= —3cem/ s
di

Hence,
dA _ —3ab

dt  Jag® _p?

When, a =b we have:
dA -3p°
dt 1B
3
L
= —3b

Hence, if the two equal sides are equal to the base, then the area of the triangle is decreasing
at the rate of —3bcm® /s .

Question 4:

Find the equation of the normal to curve y' =4x at the point (L2),

Solution:

The equation of the given curve is »* =4x

Differentiating with respect to x, we have:

WWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

i cuemath
THE MATH EXPERT
dy
QYL =4
Vi
d
b _4
dx 2y
a2
dx y
:,:Q} —E_l
dx Ji5 2
Now, the slope of the normal at point (1.2) js
-1 -1
:—:—'1
B]
dx Jo.2)

Equation of the normal at (1.2) js
= y—2=—x+1
=x+y-3=0

Question 5:

Show that the normal at any point 0 to the curve x=acos@ +alsin@, ¥ =asind —ab cosb is at
a constant distance from the origin.

Solution:
We have x =acosO+alsin0
Therefore,
dx ; ;
—=—gsin@+asinB +ab cosO
do
=afcosB

Also, ¥y =asinf —af cos6

Hence,
ﬁ=acos€—acos€+a9ws€
do
=abBcosB
Thus,
dy dy do
dx  dO dx
_afsinf
" afcosh
=tanf
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-1
Slope of the normal at any point 6 is tan6 .

The equation of the normal at a given point (x.) is given by,
-1
tan 0
= ysin@—asin’ 6 +al sin6 cosO = —xcosO + acos’ 0 +abd sin6 cosO

y—asinf +ab cosf = (x—acos@ —absinf)
= x0059+y5in9—a(sin29 +cos’ 9) =0

= xcos@+ysinf—a=0

Now, the perpendicular distance of the normal from the origin is

|-l |4
= — —ai

Jeos?@+sin?0 VI , which is independent of 0

Hence, the perpendicular distance of the normal from the origin is constant.

Question 6:

( ) _ 4sinx—2x—xCcosx
Find the intervals in which the function / given by 2+cosx is
(i) Increasing

(i) Decreasing

Solution:
4sinx—2x—xcosx
x —
We have f( ) 2+cosx
Hence,

(2+cos x)(4cosx—2 —cosx+xsinx)—(4sinx—2x—xcos x)(—sinx)

(2 +cos x)2

r)-

- 2 - - 2 - -
_ 6cosx—4+2xsimnx+3cos” x—2c0sx+x51NxXcosx+4sin” x—2x5In X — XS XCOSX

(2 +cos Jc)2

dcosx—4+3cos’ x+4sin’x
- 2
(2+cosx)

decosx—4+3cos’ x+4—4cos® x
= 2
(2 +cosx)
_4cosx—cos’ x
[2 +c:4msx)2
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B cos x(4—cos x)

S'(x)=
) (2+cosx)’
Now,
f'(x)=0
=cnsxy=0o0r cosx=4
But cosx # 4
Hence,
cosx=0
n 3w
=Sx==,=
2°2
T in T T 3w
X=7 X=70"" 4. (02 . C e . 0,~ e
Now, 2 and 2 divide (0:27)into three disjoint intervals i.e., 24, AE 2

(%) s (527)
In intervals, \ 2/ and \ 2’ ,f'(x)>0

x 3x
Thus, / (%) is increasing for I 2and 2 cx<m
5%
In the interval L 2~ 2 /, J'(x)<0
T 3n
Thus, / (%) is decreasing for 257,

Question 7:

1
: . o : : =x'+—,x%0
Find the intervals in which the function / given by S (x)=x 277 s

(i) Increasing
(i) Decreasing

Solution:

1
s i I
We have f(x)—x +x3

Therefore,
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Now, the points x =1 and x=-1 divide the real line into three disjoint intervals i.e., (—o0,—1) ,
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4 ot Zmi
f (x)—?:x =

_3x5—3

4
X

Sf'(x)=0
=3x*-3=0
=x> =1
= x=x=l1

(=1.1) and (L),

In intervals (—~1) and (l?m) i.e., when x<-1 and x>1, I'(x)>0,

Thus, when x<-1 and x>1, / is increasing.

In interval (—1.1) i.e.,, when —1<x<1, ['(x)<0,

Thus, when —1<x<1, f is decreasing.

Question 8:

Find the maximum area of an isosceles triangle inscribed in the ellipse «’

vertex at one end of the major axis.

Solution:

=
B

YI‘
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2 Y

+
The given ellipse is a® b’
Let the major axis be along the x-axis.

Let ABC be the triangle inscribed in the ellipse where vertex C is at (a,0),

Since the ellipse is symmetrical with respect to the x-axis and y-axis, we can assume the

coordinates of A to be (_xwy |) and the coordinates of B to be (—x, e |)

b 2 2
=t+—.a’-x
Now, we have Ui :
—x,,g\faz —x,zj

Coordinates of A are ( a

b 2 Z )
the coordinates of B are [ a

As the point (*1:31) lies on the ellipse, the area of triangle ABC (4) is given by,

o 2 a7 o o) -2 o ) - 2=

a a

=
2

=b\(az-xf+x]£,,‘az~—x12 sl
a

Therefore,
A 2xb b i3 2%
dx, 2a’-x’ a 1 2aJa’ —x]
- 0° 2_2)_ 2
ﬂﬁ[_x]a"‘(a —x, )_x] :I
b(—2x12 - xa +a2)
a\/az—xlz
L
NOW, dx}
Hence,
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Now,

Also, when,
Then,
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= —23t']2 ~xa+ a =0

_ ai\fag -4(-2)(a’)

=X 2(_2)
a++9a*
X, =
-4
a*3a
=>x =
—4
a
=X, =—a,—
2
X —3
Y2
2
gl 2
a 4
a
_5\6
iy
—2x)
Ja@i—x? (—dx—a)=|-2x*~xa+a® 7( 1
dzA_E 1( i ) ( 1 — % )Z#az—xﬁ
dx‘z _'a az—xf
b (az —:t:lz)(—4x1 —a)+x, (—2.1‘12 —x,a+a2)
=—<
3
’ (o -x7):
b 2x’ =3a’x-a’
3
ey
o4
b2
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3
o) —302['3]—03
aﬂA_E 8 2

&} a

4

d 3.: .
_blaa 0]
3
“| ()
| 4
9
“a
o D) o t<0

a

. . X =
Thus, the area is the maximum when = 2 .
Hence, Maximum area of the triangle is given by,

2 2
A:b./az_a_{ﬂ)ﬁ N
4 2la 4

V3 [a]b a3
=ab—+| = |[—x—

3 2Ja 2
_ab«ﬁ_l_abﬁ

2 4
:ﬂg_ab

4

Question 9:
A tank with rectangular base and rectangular sides, open at the top is to be constructed so that

its depth is 2m and volume is 8’ . If building of tank costs X 70 per sq. meters for the base
and X 45 per square metres for sides. What is the cost of least expensive tank?

Solution:
Let /, b and & represent the length, breadth, and height of the tank respectively.

Then, we have height, & =2m and volume of the tank, ¥ =8m’

Volume of the tank
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V =1bh
= 8=Ixbx2
=Ilh=4

4

=b=—
1

Now, area of the base, /b=4

Area of the 4 walls,
A=2h(l+b)

=4(£+i)
[

Hence,
i)
dl [
Now,
“_,
dl
ﬁ(i—%} =0
=[*=4
=S U

However, the length cannot be negative.

Therefore, we have /=4

Hence,
p=2
[
_4
2
=2
Now,
d’4_32
d?* P
When, /=2
Then,
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d’A _E
dr’ 8
=4>0

Thus, by second derivative test, the area is the minimum when /=2
Wehave I=b=h=2
Therefore,

Cost of building the base in X is
70x(Ih) =70(4)
=2K0

Cost of building the walls in X is
2h(1+b)x45=2x2(2+2)x45
=720

Required total cost is < is
280+720=1000

Thus, the total cost of the tank will be T 1000.

Question 10:

The sum of the perimeter of a circle and square is & , where & is some constant. Prove that the
sum of their areas is least when the side of square is double the radius of the circle.

Solution:
Let 7 be the radius of the circle and @ be the side of the square.

Then, we have:
2rr+4a=k

k—2rxr
=a=

The sum of the areas of the circle and the square (4) is given by,
A=nr*+a’

2
s (k—2nr)
16

Hence,
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dd _ - 2(k—2ar)(-2=)
dr 16

T (k —Zn'r)

=2nr—

Now,
a_,
dr

=3 27rr——ﬂ(k ~2u) =0

ﬁ?}rr:M

=8r=k-2nr

= (8+2m)r=k

:”':(84-—2::)

__k
2(4+ﬂ')

=Fr

Lk d4_
When, 2(4"‘7"'),:;?)

_ Kk

¥
The sum of the areas is least when, 2(4+n)

Lk
When, 2(4+m)

Then,
k
k_zx[z(:tm)}

4
_k(4+n)-nk
_W
4k
44+
k

T d+rm
=2r

a=

S
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Hence, it has been proved that the sum of their areas is least when the side of the square is
double the radius of the circle.

Question 11:
A window is in the form of rectangle surmounted by a semicircular opening. The total

perimeter of the window is 10m. Find the dimensions of the window to admit maximum light
through the whole opening.

Solution:

Let x and ¥ be the length and breadth of the rectangular window.

x
Radius of the semicircular opening be 2

It is given that the perimeter of the window is 10m.

Therefore,

x+2y+2X 10

2

T
=>x[1+EJ+2y=10
:>2y=10—x[l+%)

1 n
:>y=5—x{5+z}

Area of the window (4) is given by,

Therefore,
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dax’ 2) 4
—
4
Now,
a_,
dx
= 5~x[1+£]+£.x =0
2
=% 5—x—£x= 0
4
=>x(1+£)= 5
4
5
—
(%)
4
20
s 5
T+4
20
X =
When, m+4
d*A
<0
Then, dx*

20
Therefore, by second derivative test, the area is the maximum when length is 7= +4

Now,
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Hence, the required dimensions of the window to admit maximum light is given by length
20 " 10 "
n+4 andbreadth 7 +4 .

Question 12:
A point on the hypotenuse of a triangle is at distance a and b from the sides of the triangle.

: 2y
[a3 +b° J
Show that the minimum length of the hypotenuse is .

Solution:
Let AABC be right-angled at B, AB=x, BC=y and £C=0.

Also, let P be a point on the hypotenuse of the triangle such that P is at a distance of a and b
from the sides AB and BC respectively.

A

We have, 4C =+/x"+’

Now,

PC =bcosech

AP = asecf
Hence,

AC=AP+ PC

AC =b cosec +asecO (1)
Therefore,

d(AC

(dﬁ ) =—b cosecO cot @ +asech tand

Now,
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d(AC)
do
= —b cosecOcotO +asecOtand =0

=

= asecOtan0 = b cosecO cotO
a sin@ b cosO

cosO cos@ sinf sin@
= asin’ 0 =bcos’ 0
1 1
= (a)3sin@ = (b)3 cosO

1

= tan@ = [ET
a
Thus,
3 3
sinf = b) cosf = a) sl 2)
Va3+b3 and Va 3+b3
5 1
d (AC)<0 tanﬂ:(ET
It can be clearly shown that ~ d0°* , when a) .

tan 6 [
By second derivative test the length of the hypotenuse is the maximum when
1

b\
tanf = [—J
When, a) , we have:

\/z 2 Jz 2
Nad+b? +a a’ +b3

AC =

[ Using (1) and (2)]

Question 13:
. . . . . 4 3
Find the points at which the function / given by ./ (¥)=(x=2) (x+1) has
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(i) local maxima
(i) local minima
(i)  point of inflexion

Solution:
The given function is / (x)=(x-2)"(x "'1)3
Thereofore,
f(%)=4(x=2) (x+1)’ +3(x+1)’ (x-2)"
=(x=2) (x+1)"[4(x+1)+3(x-2)]
=(x=2) (x+1) (7x-2)
Now,

f(x)=0

:x=—1,x=£,x=2
7

2 2 7'(x)>0
For values of x close to 7 and to the left of 7

2 2
Also, for values of x close to 7 and to the right of T

S'(x)<0

2

Thus, ¥77 is the point of local maxima.

Now, for values of x close to 2 and to the left of 2./ ’(x) <0
Also, for values of x close to 2 and to the right of 2,1'(x)>0,

Thus, x=2 is the point of local minima.

Now, as the value of x varies through —1, 1"(%) does not change its sign.

Thus, x=-1 is the point of inflexion.

Question 14:

Find the absolute maximum and minimum values of the function f given by

S(x)= cos” x +sin x, x E[O,ﬂ?].
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Solution:

We have f(x) =cos’ x+sinx

Therefore,
f'(x)=2cosx(—sinx)+cosx

=-28inxcosx+Ccosx

Now,
f’(x):(}
= —-2sinxcosx+cosx =0
= COSX =25INXCOSX

= cos x(2sinx—1)=0

; 1
:>smx=5 or cosx=0

Sr=2 of = v xe[0]
6 2

r
2

T
. 910 g X=—, . .
Now, evaluating the value of / at critical points 6 2 and at the end points of the interval

[0,7] ie.,at x=0 and x=n, we have:

(5=}

BY 1
5]
2
4
£(0)=cos*(0)+sin(0)
=140
=1
f(m)=cos*(m)+sin(7)
=(-1)"+0
=1

/(3 )ld)

=0+1
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5 T
. .= . x=— ..
Hence, the absolute maximum value of / is 4 occurring at 6 and the absolute minimum
T
. . x=0,—,7
value of / is 1 occurring at 2

Question 15:
Show that the altitude of the right circular cone of maximum volume that can be inscribed in

4r
a sphere of radius 7 is 3 .

Solution:

A sphere of fixed radius (r) is given.
Let R and 4 be the radius and the height of the cone respectively.

The volume (V) of the cone is given by

V=l;rcR2h
3

Now, from the right ABCD, we have:
BC=+r*-R?
=h=r+\Jr’—R*

Hence,
V=%7ERI [r +r? —Rz)
1 2 1 2 2 2
=—mRr+—nRNr —R
3 3
Therefore,
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dv 2 2 ;-::R2 (-2R)
—==naRr+=naRNF -R> + ;
drR 3 3 2,/,.2 —-R?

2 2
= —:ﬂ:Rr+—JrRxd rP—R? -
3 3\/}' —R2

2 27rR(r —R')—ﬂ'R‘

=—nRr+
3Jrr-R?
2 27 R’ =37 R’

=—gaRr+
WP -FR?

Now,

= z;rRr+ 2nRr* -3zR’ _n

3 Wr-R

2nRr 3rR =21 Rr?

3 sfr-p

=2rVrt =R =3R*-2/°
=47 (r2 - 1\22) = (3';‘&2 - 27’2)2
= 4r' —4r*R* =9R* + 4r* —12R*/?
= 9R*-8r°R* =0
= BRE=8r"
8

=R =

Also,

242 Rz

Py g 3Wr? - R (27r? ~9n R*) (22 Rr* — 37 R*)(-6R)
= +

drR® 3 9(r*-R?)

WNri-R? (2:1'?‘2 -97R? )+(271'Rr —321'R3)(

3 9(r?— )

1
Nz

Rz —ﬁ = sz
When, 9 , dR?
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Then, height of the cone

k=r+‘)r2 —g
9

2

9

Hence, it can be seen that the altitude of the right circular cone of maximum volume that can
4r
be inscribed in a sphere of radius 3 .

Question 16:
Let / be a function defined on [%?] such that /(x)> 0, for all X€ (@.5) Then prove that /

1s an increasing function on (a.b).

Solution:

Let %-% €(@.b) guch that * > %

Consider the sub-interval [%:%:]

Since /(%) is differentiable on (@:2) and [%-%.]=(a.b).

Therefore, /' (%) is continuous on [*1:*:] and differentiable on (%:%:).

By the Lagrange's mean value theorem, there exists ¢ < (*1:%,) such that
f(c)=f(x2)‘f(xl) (1)

X=X

Since, / "(x)>0 for a1 € (“’b) , S0 in particular,
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f'(€)>0
W >0 [Using (1)]
= f(x)-f(x)>0

=>f(x2)>f(xl)

= Flx)sf (%)

=

Since, *-%; are arbitrary points in (a,b).

Therefore, % <% = f(%)<f(x) forall XX €(ab).

Hence, / (%) is increasing on (a.b),

Question 17:
Show that the height of the cylinder of maximum volume that can be inscribed in a sphere of
2R

radius R is ﬁ . Also find the maximum volume.

Solution:

A sphere of fixed radius (R) is given.

Let 7 and % be the radius and the height of the cylinder respectively.

:""-__

From the given figure, we have 7 =2+VR* —#°

The volume (V) of the cylinder is given by,
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V=nrh

=27’ R =

Therefore,
V=nr*h=2rxr’*N<R>-r’
271’ (=21
d—Vz 47{r«}R2 —p? +M
dr NR -
3
=4xrVR? -1 B
NRY = r?
AarR =1 =2nr’
\/RZ —
_ 4nrR’—6mr’
N R*—r?
Now,
v _,
dr
47rR* — 671’ _0
R2 _?'2 -
= 47rR* =671
=’ = 28
3
Also,
5, NR-F (47rR2 —187rr2) —(47rrR2 -6 )ﬂ
v _ 2NR =1’
dr? (Rz _rz)
(Rz - rz) (47:R2 - 187zr2) +r [47rrR2 -6 )
(k-r):
(4nR* - 2227’ R +1277* + 4r"R?)
(=)
2 _2R2 5 d*V <0
Now, it can be observed that at 3, drf
2R
3

Thus, the volume is the maximum when
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2=2R2

When, : 3

Then, the height of the cylinder is

2 2
o B2 -2 s |
3 3

2R

NE)

2R

Hence, the volume of the cylinder is the maximum when the height of the cylinder is N

Question 18:
Show that height of the cylinder of greatest volume which can be inscribed in a right circular

cone of height / and semi vertical angle « is one-third that of the cone and the greatest volume

. . —nh'tan’ &
of cylinder is 27 .

Solution:
The given right circular cone of fixed height # and semi-vertical angle o can be drawn as:
A
i
—AC
F G

Here, a cylinder of radius R and height # is inscribed in the cone.
Then, £GAO=a, OG=r, OA=h, OE=R and CE=H .
We have, r=htana

Now, since AAOG is similar to ACEG , we have:
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40 _CE
oG EG
h

ror—

=-H
=>H=

=H =

tan ey

H

" htana

[+ EG=0G-OE]
R

2r-8)

" (htano—R)

(htana - R)

Now, the volume (V) of the cylinder is given by,
V=rRH

TR*
tan o

=7R*h

Therefore,

dv

—=27aRh-

dR

(htanc —R)

R’
tan o

3TR?
tan o

WWwWW.CUEMATH.COM



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

cuemath

THE MATH EXPERT

4

Now,
av_
dR

0

3nR®
tan
3r R’

tana
= 2htana =3R

= 2T Rh— 0

=2nRh=

2h
=R =Ttana
Also 7
dv 67R

> = 2nh—
dR tan o

2h
R=—1tana
For 3 , we have:

d2V=2 A br [2?: )

5 wTh— —tana

dR tano | 3
=2rh—-4nh
=-2rh<0

2h
. . . R=—tana
By second derivative test, the volume of the cylinder is the greatest when 3 :

2h
R=—tana
When, 3

Then,

(htana —%tana)

_ [htana]
no 3

~ El-
K

Thus, the height of the cylinder is one-third the height of the cone when the volume of the
cylinder is the greatest.

Thus, the maximum volume of the cylinder can be obtained as:
T| —tana —|=g| —tan " a || —
3 3 9 3

= inif tan’ «
27
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Hence, the given result is proved.

Question 19:
A cylindrical tank of radius 10 m is being filled with wheat at the rate of 314 cubic metre per
hour. Then the depth of the wheat is increasing at the rate of

(A) lm/h (B) 0.1m/h (C) .Im/h (D) 0.5m/h

Solution:
Let 7 be the radius of the cylinder.

Then, volume (V) of the cylinder is given by,
V=nr’h
=m(10)"h
=100xh

Differentiating with respect to time (¢) , we have:
dv dh

— =100 —
dt dt

The tank is being filled with wheat at the rate of 314m’ / h

LUSRrTTm
&

Thus, we have:
dh

100r—=314
dt

dn_ 314
i 100(3.14)
=1

Hence, the depth of wheat is increasing at the rate of lm/ /.

Thus, the correct option is A.

Question 20:

The slope of the tangent to the curve x=¢>+3t—8, ¥ =2t —2¢-5 at the point (2.-1) s
2 6 7 -5
(A) 7 B) 7 (C) 6 D) 7
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Solution:

The given curve is x=¢>+3r—8 and ¥ =2t —2¢-5,

Therefore,

Hence,

dy g _4-2
dx dx  2t+3
dt

The given point is (2.-1)

At x=2, we have:
£ +3t-8=2
=1>+3t-10=0
= (1-2)(t+5)=0
— WA o

At y=-1 ,we have:
287 —2t-5=~1
= 2" -2t-4=0
=2(fF-1-2)=0
=(1-2)(¢+1)=0
=t =2ort=—1

The common value is t =2

Hence, the slope of the tangent to the given curve at point (2.-1) i

dy] _4(2)-2
EL T 2(2)+3
_§=2
T 443

Thus, the correct option is B.
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Question 21:

The line ¥ =mx+1 is a tangent to the curve ¥* =4x if the value of m is
1
(A) ! (B) 2 ©)3 (D) 2

Solution:
The equation of the tangent to the given curve is ¥ =mx+1

Now, substituting ¥ =mx+1 in ¥’ =4x we get:
(mac+1)2 =4x
= m’x* +1+2mx—4x=0
= m'x* +(2m-4)x+1=0 wus(1)

Since a tangent touches the curve at one point, the roots of equation (1) must be equal.

Therefore, we have:
Discriminant =0

= (2m—4)" —4(m?*)(1)=0
= 4m’ +16—-16m—4m” =0

=16-16m=0
=m=1

Hence, the required value of m is 1.

Thus, the correct option is A.

Question 22:

The normal at the point (1.1) on the curve 2y +x* =3 is

(A) x+y=0 (B) x—y=0 (C) x+y+1=0 (D) x-y=1
Solution:

The equation of the given curve is 2y +x° =3

Differentiating with respect to x, we have:
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ﬂ+2x=

The slope of the normal to the given curve at point (L1) js

-1

— l
(Iil}

Hence, the equation of the normal to the given curve at (L1) is given as:

ﬁy-—lzl(x—l)
= y-1=x-1
=x—y=0

Thus, the correct option is B.

Question 23:

The normal to the curve x* =4y passing (L2) is
(A) x+y=3 (B) x—y=3 (C) x+y=1

Solution:

The equation of the given curve is X =4y

Differentiating with respect to x, we have:

2x=4.d—y
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Hence, the equation of the normal to the given curve at (h.k) is given as:

y—k=—%(x—h)

Now, it is given that the normal passes through the point (1.2)

Therefore, we have:

2
2-—k=——(1-h
(1-n)

:k=2+-i~(1—h) (1)

Since (h=k) lies on the curve x° =4y , we have h* =4k

2
:>k=h—
4

From equation (1), we have:

h* 2
—=2+—(1-h
4 +k( )

3

= —=2h+2-2h

Therefore,

=k=1

Hence, the equation of the normal is given as:

:>y—1=_?2(x—2)

S y=l==x+2
= o

Thus, the correct option is A.
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Question 24:

The points on the curve 9¥ *=x" where the normal to the curve makes equal intercepts with

the axes are

(4,J_r§) 4,8 (4,13)
(A) 3 (B) 3 ©) 8

Solution:

The equation of the given curve is 9y =

Differentiating with respect to x, we have:

The slope of the normal to the given curve at point (x:31) is

-1 __6y]

@] xll
dx (x1.11)

The equation of the normal to the curve at (x:31) is

6y
y-»n-= __zl(x_x])

x]
= Xy =X’y =63y, +6x,,
= 6xy, + xlzy =6x,y, + x,zy]

= 6xy,+x,jy -
6x,y, + X"y,

bmi . AP 4

= 2 2.
6xy, +X° ¥, OXY +X7y
X y
=5 - =1
x(6+x) »(6+x)
6 %
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It is given that the normal makes equal intercepts with the axes.

Therefore, we have:
5 (6+x)_»(6+x)

6 X
A U, |
6 x
Sxi=6y ()

Also, the point (x1:31) lies on the curve, so we have
Gyt =27 ..(2)

From (1) and (2), we have:

From (2), we have:

=9y’ =4
, 64
=W z?
8

= 3

(v
Hence, the required points are 3

Thus, the correct option is A.
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